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Did Homer Nod Off? Aristotle and Homeric

Problem-Solving

1 Introduction

The Homeric Iliad and Odyssey are perhaps the most influential texts of antiqui-
ty. They were widely admired and used as a source of knowledge and teaching.
Yet already early on in history, Homer was criticized as well. He was first at-
tacked on moral grounds. The earliest anti-Homeric voice is found in Xenoph-
anes (65" century BCE), who criticized the representation of the gods in
Homer and Hesiod.! Similar criticism was voiced by Heraclitus of Ephesus (c.
500 BCE).? The earliest defenders of Homer sought to meet these attacks by ex-
plaining the Homeric epics in an allegorical way. So the Theomachy in Iliad XX
and XXI was explained, for instance, as a conflict between physical elements
(e.g. Hephaestus stands for fire, Poseidon stands for water, etc.) or between var-
ious conflicting states of the mind (e. g. Athena is wisdom, Ares is stupidity, Aph-
rodite is desire, etc.).? The first who is known to have applied this method is The-
agenes of Rhegium (sixth century BCE).* This type of Homer exegesis was
popular in the fifth century BCE with Metrodorus of Lampsacus the Elder, who
explained the Iliad in terms of the cosmology of his teacher Anaxagoras,” and
also with Democritus of Abdera.®

1 Xenophanes, frag. B11 DK = frag. 15 Gentili/Prato’ = Sextus, M. 1X.193; frag. B12 DK = frag. 16
Gentili/Prato® = Sextus, M. 1.288 —289.

2 Heraclitus, frag. A22 DK = Aristotle, EE VII 1, 1235a; Simplicius, In Cat. 412.26 Kalbfleisch; Nu-
menius, frag. 52 des Places (= Calcidius, Comm. 297). Frag. B42 DK = Diogenes Laertius IX.1. Frag.
B56 DK = Hippolytus, Haer. IX.ix.6. See also Plutarch, Is. 48, 370d.

3 See Porphyry, Ad Il. XX.67-75 (1.240-243 Schrader = 240-242 MacPhail); Proclus, In R.
1.91-95 Kroll. See Bernard (1990) 74-90; Richardson (1992) 316-7; Ramos Jurado (1999). See
also Xenophon, Smp. I11.6, where the interlocutor Niceratus is said to have learnt the “deeper
meaning” (Orovolat) of Homer from Stesimbrotus, Anaximander and many others.

4 Theagenes, frag. 2 DK = T 4 Biondi = Porphyry, Ad Il. XX.67-75 (1.240—241 Schrader = 240
MacPhail). See Wehrli (1928) 88 —91; Mosino (1961); Pfeiffer (1968) 9 —11; Presta (1969); Buffiére
(1973) 101-5; Richardson (1975) 67-8; Pépin (1976) 97—8; Rispoli (1980); Rocca-Serra (1990);
Ford (1999) 35-8; Ramelli — Lucchetta (2004) 53 -5; Pontani (2005) 25-7; Martinho dos Santos
(2007); Domaradzki (2011) and (2017); Biondi (2015); Fuentes Gonzalez (2016).

5 Metrodorus, frags. 3—6 DK. See Nestle (1907); Wehrli (1928) 92-4; Buffiére (1973) 125-32;
Richardson (1975) 68 —70; Rocca-Serra (1990); Hammerstaedt (1998); Califf (2003); Fuentes Gon-
zalez (2005); Martinho dos Santos (2007).
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Such allegorical interpretations were explicitly rejected by Plato (R. II 378d),
who famously attacked Homer and Homeric ethics in the second and third books
of his Republic. The anti-Homer trend peaked in the fourth century BCE, with the
sophist Zoilus of Amphipolis, whose criticism of Homer earned him the nick-
name of “Homer-scourge” (OunpopdoTti&). Zoilus not only attacked Homer on
moral grounds (like Xenophanes and Plato) but also criticized errors, inconsis-
tencies and plot holes.” In reply to such attacks, several writers suggested solu-
tions for Homeric problems. The first writer known to have tackled such prob-
lems is the fifth-century BCE sophist Stesimbrotus of Thasus.® Homeric
problems were also treated by the Socratic Antisthenes, although it is unsure
in what type of work or works Antisthenes made these comments.® The most im-
portant writer on Homer in the fourth century, apart from Aristotle, was probably
Heraclides Ponticus, Aristotle’s fellow student in the Academy, who wrote Ho-
meric Solutions (AVoelg ‘Opnpkai) in two books.*°

It is against this background that Aristotle, who greatly admired Homer,*
wrote his work on Homeric problems. This work is variously cited as Amopripata
‘Ounpika, ‘Opnpov &ropnpata, HpopArpata ‘Opnpkd or ‘Opnpka {ntparta.*? It
seems to have originally comprised six books™ but now survives only in about

6 Democritus, frag. B25 DK = Eustathius, Ad Od. X11.65 (I.11 Stallbaum). See Pépin (1976) 101-3.
7 Zoilus, frags. 1-19 Jacoby. His work was entitled Against the Poetry of Homer (Katd tiig ‘Opn-
pou mooewg): see test. 1 Jacoby = Suda { 130, sv. Zwihog. See Spindler (1889), Friedlinder
(1895) 1-46; Apfel (1938) 250 —2; Buffiere (1973) 22— 5; Géartner (1978).

8 Stesimbrotus, frags. 2325 Jacoby. See Buffiére (1973) 132-6; Richardson (1975) 71-4.

9 Antisthenes, frags. 51-58 Decleva Caizzi = Va187-194 Giannantoni. See Apfel (1938) 247; De-
cleva Caizzi (1966) 105-9; Pfeiffer (1968) 36—7; Richardson (1975) 77-81; Pépin (1976) 105-9;
Rankin (1986) 175-8; Giannantoni (1990) 331-46; Doring (1998) 278 —80; Navia (2001) 39 -52;
Pontani (2005) 28 -31; Prince (2015) 584—677.

10 See Diogenes Laertius V.88 (Avoeig ‘Opnpukai o B'); Heraclides Ponticus, frags. 99 —104 Schii-
trumpf. See Wehrli (1969) 121-2; Heath (2009) 255-63.

11 See McGuire (1977).

12 The title Anopripota ‘Opnpiké is found in Diogenes Laertius V.26 and Hesychius’ catalogue
no 106 (p. 86 Diiring = p. 14 Rose’ = p. 27 Gigon). The variation ‘Oprpov dropnpata is used in
Phrynichus, Eclogae 231 Fischer, sv. Bacihooav (= frag. 179 Rose® = frag. 404.1 Gigon), and
Antiatticista B 16 Valente, sv. BoaoiAicoa (AB vol. 1 p. 84) (= frag. 179 Rose’ = frag. 404.3
Gigon). Schol. Ge Hom. II. XX1.390a Erbse cites the work as AplototéAng v Anopripactv (without
Homer in the title). IIpofAnpata ‘Opnpika recurs in Hesychius’ catalogue no 147 (p. 87 Diiring =
p. 16 Rose’® = p. 28 Gigon). Finally, ‘Ounpwa {ntrpata is attested in Vita Aristotelis Marciana 4
(p. 97 Diiring) and Vita Aristotelis vulgata 3 (p. 132 Diiring). See Mayhew (2019) 25-9.

13 See Diogenes Laertius V.26 (Anopnuétwv Opnpik@v o B’y 8 € ¢) and Hesychius’ catalogue
no 106 (Amopnpdtwv Opnpk@®v ¢). According to no 147 in the anonymous appendix to Hesy-
chius’ catalogue (IlpopAnpétwv Ounpik@v ) and Ptolemaeus al-Garib’s catalogue no 101
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forty fragments.” Almost all of these are transmitted through Porphyry’s Homer-
ic Questions (Ounpwa {ntrpata),” which is itself preserved mainly as excerpts
in the scholia on Homer.*

(p. 439 Hein = no 98, p. 230 Diiring = no 91, p. 22 Rose’ = no 104, p. 45 Gigon), by contrast, the
work consisted of ten books. See the discussion in Mayhew (2019) 29 —30.

14 The authenticity of the Homeric Problems was rejected by Lehrs (1833) 226 -7, Ritter (1839)
263—-6 and Rose (1863) 148—54. Lehrs’ main arguments are that the solutions are supposedly
unworthy of Aristotle and that the work was not known to any writer, except Porphyry. However,
the close connection with chapter 25 of the Poetics, where similar solutions are found, refutes
this skepticism. So already Heitz (1865) 267 and Vahlen (1867). Indeed, most scholars today ac-
cept the work as genuine. Moreover, apart from the Vitae of Aristotle, Phrynichus and Antiatti-
cista (see note 12), Aristotle’s work on Homer is also mentioned in Strabo XIILi.36, 598c (= frag.
162 Rose’ = frag. 402 Gigon), Plutarch, De audiendis poetis 12, 32f (= frag. 165 Rose’ = frag. Gigon
403) and Non posse suaviter vivi secundum Epicurum 12, 1095a (not included in Rose and Gigon),
and schol. Ge Hom. Il. XXI1.390a Erbse. See already Sengebusch (1855) 75. Another attestation
might be Athenaeus 13, 556d (= frag. 144 Rose’ = frag. 42 Gigon), on the reason why, unlike
all the other heroes, Menelaus does not have any concubines, though it is also possible that
this fragment belongs to On Good Birth (cited shortly before in 556a = frag. 93 Rose’ = frag.
71.2 Gigon) or the Eroticus (suggested by Gigon (1987) 278). For Athenaeus 7, 298bc, see Mayhew
(2020) and note 94 below. Rose (1863) 149 considered the Homeric Problems a quaestionum volu-
men ex Peripateticorum studiis philologis. So also Schrader (1890) 179 — 94 and Heitz (1865) 276.
According to Heitz, the later expansion of the Aristotelian collection might explain the difference
in reported book numbers (see note 13).

15 Only the first book survives in direct transmission (the so-called Zetemata Vaticana); it has
been edited by Sodano (1970). The rest of Porphyry’s work survives only in excerpts in the scho-
lia on Homer. These fragments have been collected in Schrader (1880) and (1890). However,
Schrader relied on inferior manuscripts and is nowadays agreed to have attributed too much
to Porphyry. A more conservative edition of the fragments on the Iliad is found in MacPhail
Jr. (2011).

16 There is one caveat, however: Porphyry never explicitly cites Aristotle’s work by its title. For
some fragments, this leaves open the possibility that they belong to another work. This is espe-
cially true for fragments that include comments on animals, which might belong to a lost zoo-
logical work. In the Zetemata Vaticana, the only citation of Aristotle is derived from the History
of Animals (Porphyry, Zetemata Vaticana 8 [1.291 Schrader = 43 Sodano] = Aristotle, HA VIII 15,
599b). See Mayhew (2015) 132-3. Aristotle’s History of Animals is also cited (without reference to
the book title) in Porphyry, Ad Il. XXIV.315-316 (1.274 Schrader = 272 MacPhail) = Aristotle, HA
IX 32, 618b. See also Porphyry, Zetemata Vaticana 16 (115-116 Sodano). Other works are the Con-
stitutions (TIoAtteiot) and Barbarian Customs (Noppa BapBapka), which might also be the
source for a number of fragments that discuss solutions oia fv. See Heitz (1865) 275-6 and
(1869) 141 on Aristotle’s frag. 166 Rose’ = frag. 389 Gigon = Porphyry, Ad Il XXIV.15 (1.267 Schrad-
er = 258260 MacPhail) (discussed below). See, however, the counterarguments of Sodano
(1965) 233 - 5. For most of the fragments which I will discuss here, the attribution to Aristotle’s
Homeric Problems seems relatively unproblematic.
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2 Poetics 25

Aristotle’s method is in line with his views on literary problems and their solu-
tions set out in chapter 25 of the Poetics.”” Despite some problems arising from
Aristotle’s condensed and arcane way of expressing himself in the Poetics, his
methodology is more or less clear. He distinguishes five types of problems: (1)
impossibilities (G80vata), (2) illogical behaviour (GAoya), (3) unethical or “harm-
ful” behaviour (BAoPep&),*® (4) contradictions (Umevavtia) and (5) violations of
the artistic standards (rapd THv 6pOOTNTA TNV KAt TEXVNY).' One of the key ob-
servations which Aristotle makes at the beginning of chapter 25 is that we should
judge poetry first of all by poetic standards,? i.e. some irrational or unethical
actions in Homer can be justified if they serve the artistic purpose. This is per-
haps Aristotle’s strongest argument against most of the objections made by
Plato and Zoilus: poetry needs to abide by its own rules (as they are discussed
by Aristotle throughout the Poetics) and not by rules imposed from another dis-
cipline, such as ethics or biology.

The actual solutions given in the Poetics and applied in the Homeric Prob-
lems roughly fall into three categories: (1) solutions based on the method of imi-
tation; (2) solutions involving an adequate understanding of the context in which
the problem occurs; (3) solutions based on a correct understanding of the lan-
guage (what we today would call “philological” solutions). In what follows, I

17 See the discussions in Vahlen (1867) 351-91, 407-30, Carroll (1895), Gudeman (1934)
418-42, de Montmollin (1951) 99 — 117, Hintenlang (1961) 11- 6, Lucas (1972) 232-51, Rosenmeyer
(1973), Gallavotti (1974) 199 — 217, von Fritz (1976), Dupont-Roc — Lallot (1980) 386 — 404, Golden —
Hardison (1981) 272-8, Halliwell (1987) 176-80, Ledda (1990), Breitenberger (2006) 371-4,
Schmitt (2011) 700 -23 and Mayhew (2019) 9-23. One of the major cruces is that, at the end
of chapter 25, Aristotle states that there are twelve solutions to the problems discussed before,
but it is unclear how the solutions discussed in this chapter can be reduced to twelve and how
these twelve should be identified. For this reason, I have used my own classification of prob-
lems, based on what Aristotle says in Poetics 25.

18 The word BAoBepé is traditionally interpreted as harmful to the reader, i.e. immoral. Bou-
chard (2010) and (2016) 294 -6, however, has argued that it means harmful to the character
who is undertaking a certain action.

19 Aristotle, Po. 25, 1461b: T& P&V 0DV EMITARATA £k TEVTE €i8®V PEPOVGIV* T} Yap (G dBUvVaTA
Nl wg GAoya A WG PAaBepd | WG LTEEVAVTIR {| WG TIAPA TRV OPOOTNTA TV Kotk TEYVNV (“the cen-
sures they bring are of five kinds: that things are either impossible, illogical, harmful, contradic-
tory or in violation of the artistic correctness”).

20 Aristotle, Po. 25, 1460b: mipdg 8& TouTOoLg 0V) | AT 6POGTNG E0TIV TG TOALTIKFG Kal TAG oL
NTKAG 0V8E GAANG TéEXVNG Kol o Tikiig (“moreover, the standard of what is correct is not the
same in the art of poetry as it is in the art of politics or any other art”).
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will discuss Aristotle’s method through a selection of fragments, assess the val-
idity of his solutions and compare them with those proposed by other ancient
writers.

3 Solutions Based on the Method of
Representation

3.1 Solutions Oia 'Hv

The first type of solutions is one that is based on the poet’s method of imitation
(Hipnotg). As Aristotle says at the beginning of chapter 25 of the Poetics, the poet
can represent things in various ways: as they are (old ¢oTtv), as they were (ol
ﬁv), as they are said to be (ot& @aow f| okel), or as they should be (ola glvan
8€1).2* First, explaining problems ot ﬁv means interpreting them as obsolete
customs: since Homer wrote a long time ago, the argument goes, the customs
in the Homeric epics are obviously different from those at the time of Aristotle.
So Homer should not be blamed for reporting them. An example is frag. 166
Rose’, which addresses Achilles’ immoral behaviour when he drags Hector’s
corpse around Patroclus’ grave (II. XXIV.15-16).

B T 0 AxtAAevg OV “EkTopa ellke Tiept TOV Ta@ov Tob ITatpokAov, Topa T& VEVOLOHEVK
TIOL@WV €1G TOV VEKPOV; (...) E0TL 8E ANewy, @noiv ApLoTOTEANG, Kal £iG T DTIGPYOVTA GVAyOVTX
€0, 6T TowadTa NV, EMEL Kal VOV v OETTAAQ TEPIEAKOVOL TIEPL TOVUG TAPOUG,.

Why did Achilles drag Hector around Patroclus’ grave, acting on the corpse contrary to the
customary rites? (...) It is possible to solve the problem, says Aristotle, by also referring to
the customs which existed at that time, seeing as that is how they were. For now too in
Thessaly, people drag them?” around the graves.

Frag. 166 Rose’ = frag. 389 Gigon = Porphyry, Ad II. XXIV.15
(1.267 Schrader = 258 -260 MacPhail)

21 Aristotle, Po. 25, 1460b: £mel Y&p £0TL PUNTNG O TONTNG WOTEPAVEL {wypapog 1 Tig GANOG
£lkovoTtoLdg, Gvaykn Hpelodat TPV SvTwv TOV AptOpov &v T Gel, { Yap olx AV A £0Twy, {| old
@aowv kol Sokel, {| ola eivat 8¢l (“since the poet is an imitator, like a painter or anyone else
who creates images, he must always represent one of three things: either as things were or
are, or as they are said and believed to be, or as they should be”).

22 In all likelihood, Aristotle is talking about murderers; see the fragment of Callimachus
below, who names the murderers and victims explicitly (below, note 24).
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This fragment probably replies, at least implicitly, to Plato, who in the Republic
had objected to this inappropriate scene.?® Aristotle explains that Achilles’ be-
haviour is not so unusual, since that was customary at the time, a custom
which is said to still exist in Thessaly. Aristotle’s reference to Thessaly is no co-
incidence here, since Achilles came from this very region. A similar explanation
recurs in Callimachus, who traces the custom back to the Thessalian Simon,
whose brother had been killed by Eurydamas.* Whether the actual explanation

23 Plato, R. I1I 391b: Tdg Te o “ExTopog EAEelg mepi TO ofjpa T atpdkAov kai Tag T@v {wypn-
BEVTWY 0Qayag i TRV VPGV, cVPTAVTA TaDTA 0V PRRoopEV GANOT ipfioBat (“Hector being drag-
ged around Patroclus’ grave and the captives being slaughtered on the pyre; we will say that
these are all lies”).

24 Porphyry, Ad Il XXIV.15-16 (1.268 Schrader) = D schol. Hom. II. XXI1.398 van Thiel: 8w ti
AxtAAevg Bavovta ovpet Tov “Extopas (...) 0 8¢ KaAAipoyog @notv, &1t matpov €0t OeTTohoig
TOUG TV @INTATWY POVERG CUPELV TIEPL TOVUG TAV POVELBEVTWY TAPOVGS Zipwva yap @not Oct-
TaAOV 10 yévog Evpuddpavta tOv Mewdiov oipat drokteivavta Opacvlov TOV G8eAgov avtob,
apapevov Tod VOpoU TIPOTOV- TOV Yap @ovea E&dpat Tob Slppov Kol mept TOV T0D TeETEAEVTN-
KOTOG Ta@ov EAkewv, @notv, O VOpoG ékélevev. 60ev kol AYIAAELG WG OeTTahOG ToTpiy 0L
TobTo memoinkev. (“Why does Achilles drag Hector around after killing him? (...) Callimachus
says that it is a Thessalian inherited custom to drag the murderers of loved ones around the
graves of the people who were murdered. For he says that Simon, a Thessalian by birth, dragged
Eurydamas, son of Meidias, around, because he had killed his brother, Thrasylus; and he was
the first to start the custom. For the law dictated, he says, that he attach the murderer to his
wagon and drag him around the grave of the man he had killed. For this reason, Achilles
too, being a Thessalian, has acted in this way in accordance with his inherited custom.”) See
Proclus, In R. 1.150 Kroll: brdAotrov 8¢ €oti pot mept T@v ig tov “Extopa @ AXIMel mempay-
HEVWY Kal TGV mtepl TO ofjpa EAEewv oD TlatpdkAov, Kai MV i Toug {wypnoévTag E8pacev ppa-
AV €ig TV Tupdv, TOV eikdTa Adyov &rmodobval. TadTa yap ovk GAnOR mept avdpog Aéyeabai
enowv 6 Twkpdtng, 6G RV Bedig moig kol MNAéwg ToD CwWEPOVESTATOY, Kai &rd Aldg QUVTOG
Kol VIO TQ coPwTATw Xelpwvt TeBpappévov. elpnTatl eV oDV Kal UIO TV maAaiv, Mg OeTTa-
AoV Tt TotobTov E8og fv — kal 6 Kuprvaiog popTupel mointig: “médat 8’ £t Oecoahog avip /
PLOTALEL POHEVWV GEL TAPOV POVERS” — Kail WG TaDTA CUPTANPODVTA TRV Tiept TOV [TdTpokAov
ootav mapeiAnmrat. (“I still need to give a reasonable explanation for what Achilles has done to
Hector, for why he dragged him around Patroclus’ grave and for what he did to the captives, who
were thrown onto the pyre. Socrates says that these are lies told about a man who was the son of
a goddess and of the self-controlled Peleus, descended from Zeus and had been brought up
under the most wise Cheiron. The ancient people have also said that there was a certain Thessa-
lian custom of this kind; the Cyrenian poet [sc. Callimachus (frag. 588 Pfeiffer)] attests it as well:
‘a long time ago a Thessalian man dragged the murderers around the grave of the dead’; and the
ancient people have said that he did this as part of the funeral rites for Patroclus”.) The fragment
of Callimachus is often attributed to the Aetia: see Schneider (1873) 627-8; Pfeiffer (1965) 407;
Asper (2004) 363; Harder (2012) 743-4. According to Heitz (1869) 141, Schneider (1873) 627
and Hintenlang (1961) 22-3, Callimachus draws on Aristotle; Sodano (1965) 236 — 40, however,
argued against this assumption.
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is valid or not, it is true that corpses also get mutilated elsewhere in the Iliad,*
so Achilles is no isolated case. Interestingly, before citing Aristotle, Porphyry
gives his own, psychological motivation: Patroclus’ body had been violated
and dragged around when he was killed by Hector, so Achilles’ behaviour can
be justified as a form of retaliation.?® Although Aristotle prefers a historicizing
explanation of the problem here, we will see further on that for other problems
he also paid attention to such psychological factors (§ 4).

Another example of a solution ola fjv is frag. 160 Rose’, which asks why in II.
X.153, when Diomedes and his companions are sleeping outside their tents, their
spears are stuck with their spikes in the ground. If these spears fell over, this
would cause a lot of noise.

25 See, for instance, the mutilation of Sarpedon’s body (Il. XVI1.638 - 640).

26 Porphyry, Ad IL. XXIV.15 (1.267 Schrader = 258 — 260 MacPhail): 7| tapavopodot T ah T ovy ot
dupuvopevol AN ol dpyovteg, 6 8¢ “Extwp mpotepog Eveyeipnoe AwProacbol tov IdtpokAov
TowaTa. TG Yap 1 yvwpn “Extopog mept HoatpdkAov; “péAiota 8¢ @aidipog “Extwp / EAképeval
HEROVEV" KE@AATV O8€ £ BupoOg Gvwyel / At Gva koAOTIEGTL TOPOVE’ &IafiG Gro Setpfig”. €il-
kvoTai Te poTEPOG ITATpokA0g 81 TNV TOV Tpwwv TEpt TOV VekpOV mipobupiav: “og & 6T dvnp
Tavpoto Bodg peydhoto Boeinv / Aaoiot Soin Taview pebbovoav GAowpf” / de&apevol 8 &pa tol ye
Slaotavteg Tavdovat / kukAOG’, Gpap 8¢ Te ikpag EBn, Suvel 8¢ T dlowr, / TOMOV EAKOVTWY,
Tévutat 8¢ Te o Slampd: / (g of y’ #vOa Kkal EvBa VEKUV OALYT Vi xwpn / EINKOV GppdTEPOL™
kai oA ““Extwp pév IatpokAov, €nel KAUTA Tevye Gmnupa, / Ay, TV’ G’ dpouv ke@ahnv
Tdpot”. éxetvawv obv AeAUKOTWV TOV VOOV, 0DTwWG Exprioato avToig AANeDS. STav yap BovAGHE-
VG TIG kWAL, €kelvog pev memoinkev, GAN 6 maoywv ovdev ménovle. TlatpokAog 8¢ pOaoag
TEPLEINKVOTAL YURVOG €V T TESiw 81 Tipod@aay TV pobepévwy aikicaobat 10 o@pa, WoT &mo-
AapBavovtt €otkev O “ExTwp G 8EBpaKeV, 0D UV TAOXOVTL TG TIOPAVOHA. Kal @INavOpwTOTEPOV
Y&, 6TL povov & Spaoat SedvvnTatl ménovev, oy 6oa 8¢ Spaoat Sievonon. (“Surely those who de-
fend themselves do not commit the same crime as those who started it. And Hector was the first
to try to mutilate Patroclus in this way. For what is Hector’s intention with respect to Patroclus?
‘The glorious Hector was especially eager to drag him around. His heart urged him to cut off his
head from his tender neck and fix it to the palisades’ [Il. XVIIL.175 - 177]. Patroclus has first been
dragged around as a result of the Trojans’ effort to secure the body. ‘Like when a man allows the
people to stretch the hide of a large bull, drenched with grease; when they receive it, they stand
apart and stretch it in a circle; immediately moisture goes up, grease sinks in, while many are
pulling it, and it is entirely stretched apart; in the same manner, on both sides, they pulled the
corpse in a small spot this way and that way’ [II. XVII1.389 —395]. And further: ‘When Hector took
the splendid armour, he dragged Patroclus off to cut his head from his shoulders’ [Il. XVII.125—
126]. So, because they violated the custom, Achilles treated them in this way. For when someone
is prevented from doing what he wants, this person has undertaken an action, though the person
against whom the action is directed has suffered nothing. Patroclus was the first to be dragged
around on the plain, stripped of his armour, because of those who intended to violate the body.
Consequently, Hector seems to get what he did to another and certainly does not seem to suffer
unlawful things. It is even more humane, since he has suffered only what he had been able to
do, not everything he had intended to do.”)
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@avAn Sokel eival | TGV SopdTwv M cavpwTipag 0TAOIG. Kal 8 mavTayod 8dpuBov fAdn
TIEMOINKE VOKTWP £V POVOV TIETOV. AeL 8€ AploToTéANg Aéywv 6Tt ToladTa det motel “Opnpog
ola fv TOTe. v 8¢ TolalTa T& mohadt oldmep kai VoV £v ToTg PapBapots. oMol 8¢ oltwg
Xp@vTat TV BapBapwv.

The placement of the spears, standing on their spear butts, looks improper.?” For if even a
single spear falls over at night, it immediately creates a loud noise everywhere. Aristotle
solves the problem by saying that Homer always represents things as they were at the
time. The old customs were the same as they are now too among the barbarians. Many bar-
barians have this custom.

Frag. 160 Rose® = frag. 383 Gigon = Porphyry, Ad IL. X.153
(1.145 Schrader = 284—285 MacPhail)

Aristotle’s solution is that it was a custom at the time, as is the case with barbar-
ians of his own time. What is interesting is that in this fragment Aristotle explic-
itly refers to his methodological principle set out in the Poetics: TolaDta &el ToLel
“Ounpog, ol ﬁv 161e (“Homer always represents things as they were at the
time”). Moreover, when discussing this type of solution in the Poetics, he cites
this very problem as an example.?® From the Poetics we also learn that the bar-
barian people mentioned in the fragment refer to the Illyrians.?® Barbarians were

27 Carroll (1895) 32 and 35 translated @adAog as “poetically bad”. Sodano (1965) 229 — 30, how-
ever, objected to this translation, arguing that Hintenlang’s translation unzweckmdpig (Hinten-
lang (1961) 18 -9) is better. Although Carroll’s main point is that @adAog does not mean “immor-
al” (see notes 34 and 36), it is true that the meaning of gadAog here is probably “imprudent”,
i.e. Porphyry probably means that the arrangement of the spears is bad for Diomedes and his
companions rather than bad for Homer or his reader (viz. because it is bad poetry).

28 Alternative solutions for this peculiar scene in Homer recorded in the scholia on Homer are
that (1) these spears formed a palisade which protected Diomedes and (2) they showed that he
was courageous and always ready for battle. See schol. bT Hom. Il. X.152—153 Erbse: Tpomov Tvé
TIEPLXAPAKODVTA TOV RYEHOVA. POBEPOV 8E TO OYiiHa Kal KOWLWHEVWY, (0WG EpgaivovTog Tob ToL-
NTob Kai 81 ToVTOL TO GvBpeTiov Alopndoug kai ETOLOV £ig pdxnv: 810 Kai T évavTtia ££fg @nat
nept OpEK@V WS Péywv “Evtea 8¢ ot / KaAd ap’ avToloty XBovi KEKALTO €D Kot kdopov”. (“In
a way to protect the commander; the appearance of even sleeping people is frightening; the poet
probably also shows in this way the courage of Diomedes and his readiness to battle. That is also
why further on he [sc. Homer] says the opposite about the Thracians, since he reproaches them
by saying: ‘their splendid weapons were lying on the ground neatly beside them’ [Il. X.471-
472].”) The scholiast compares the scene with Diomedes and Odysseus’ sneak attack on the
sleeping Thracians, whose weapons are lying on the ground. The same explanation recurs in Eu-
stathius, Ad II. X.150 —156 (II1.33 van der Valk).

29 Aristotle, Po. 25, 1461a: Ta 8¢ {owg 00 BEATIOV pév, GAN olTw £ixev, olov T mept TV AWV,
“Eyxea 8¢ o@wv [ 6pl’ €mi oawpwTipog”: olTwW Yap TOT €voplov, worep kal vov TAAvptoi. (“Other
cases are perhaps inappropriate but such was the fact, e.g. the case of the arms, ‘their spears
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indeed thought to preserve a primitive lifestyle resembling that of the Greeks’ an-
cestors. This historical method, which Aristotle shares with many other histori-
ans (e.g. Thucydides),*® is also seen in other of his works, especially the Consti-
tutions.>

3.2 Solutions Oia Eivat Ai?

Let us now look at a second type of solution based on the type of mimesis. As we
have seen, Aristotle explains that a poet can represent things not only “as they
are or were”, but also “as they should be” and “as they are said to be”. Repre-
senting things “as they should be” (ol etvan BeQ) actually poses no real prob-
lems. This type is mentioned only briefly in chapter 25 of the Poetics, where Ar-
istotle explains the issue by comparing Sophocles with Euripides: Sophocles
portrays people as they should be (idealistically), whereas Euripides shows peo-
ple as they are (realistically).>* Solutions of this kind do not recur in the frag-
ments of the Homeric Problems; the reason for this is probably that idealized rep-
resentations were no major problem for the Homer critics who came before
Aristotle.®* As I have said in the introduction, early critics mainly censured pas-
sages in Homer which they deemed inappropriate or immoral. Unrealistically
positive depictions in Homer would have actually been applauded by people
like Plato.>

(driven) straight (into the ground), on their spear butts’ [Il. X.152-153]. For that was the custom
at that time, as the Illyrians now do t0o.”)

30 See Thucydides Lvi.6: ToOAG 8 v kai GAAa Tig drodei&ete T maAatdov EAANVikOv 6polotpomna
@ VOV BopPapk®d dtwpevov (“one could demonstrate that in many other respects ancient
Greece lived in a way similar to the barbarians today”).

31 See Huxley (1972).

32 Aristotle, Po. 25, 1460b: mpog 8¢ TovToLg £&v émTipdrat OTL oUK GAN6GR, GAN lowg <wg> Bef,
olov kal Zo@okAiig £pn avTog pev ofoug Sel molelv, Evpumidnv 8¢ olol eiotv, Tawtn AuTéov.
(“Next, if the charge is that something is not true, perhaps it is as it should be, just as Sophocles
also said that he himself portrayed people as they should be and Euripides portrayed them as
they are. That way this problem can be solved.”)

33 See Hintenlang (1961) 52.

34 According to Carroll (1895) 30, Aristotle means ideal representations “in the aesthetic, not in
the moral sense”. See also note 36 below. However, the reference to Sophocles and Euripides
makes little sense if Aristotle is merely talking about what is ideal from an artistic viewpoint.
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3.3 Solutions Ol ®acwv i Aokei

The third mimetic solution, explaining things “as they are said or believed to
be”, is more relevant for Homeric problem-solving. This argument acknowledges
that Homer is first of all a storyteller of traditional myths. So if the myth itself
contains unlikely or immoral elements, we should not fault Homer for merely fol-
lowing the story. This is indeed the key solution for the objections made by pre-
vious philosophers against Homer’s representation of the gods. Unsurprisingly, it
is exactly this problem that Aristotle cites as an example in the Poetics, with ex-
plicit reference to Xenophanes’ criticism.* The actual corpus of fragments, how-
ever, has not preserved many of these solutions, though this may be the result of
Porphyry’s own selection criteria. One example is frag. 163 Rose®, which deals
with the story in Il. XIX.91-124 of how Zeus was once deceived by Hera.

8w ti N "Hpa dpdoat mpodyet Tov Ala; fj SfjAov wg ob molobvTa & Gv @f). €l 8¢ TovTo, S T
oV katavedoal GAAG kai opdoal RElwoey, WG kal Pevdopévou, &v pr dpdon; 6 8¢ monTAg
@Now GANBevEY “B Tl Kev ke@alf] Katavehon”. TO PEV oLV AoV HuBMSeC. Kal ydp ovd’
4@’ Eautod TabT Pnov ‘Ounpog, ovdE yvopeva giodyel, AN ¢ SladeSopévwv mept TV
‘HpakA€oug YEVESLY pépvnTaL. pntéov 8¢ 6Tt kal 6 pbbog eikdTwg eiodyet v “Hpav 0pkod-
oav TOV Ala. TévTeg Y Tept WV &v op@vTal pf GAAwS drtopBi, oA T@ Go@alel Tpoéyety
nep@vrat. 810 kai 1 "Hpa, Gte o mept pkp@v dywvi{opevn, kai Tov Aia idvia 8Tt aiobope-
vog OV ‘HpakAéa SouAeVoVTa DIEPAYAVAKTAOEL, Tf (0XVPOTATH GVAYKN KaTEAABEV oOTOV.
oUTwG ApLloTOTEANG,.

Why does Hera urge Zeus to swear an oath? Maybe he clearly is not doing what he says. But
if that is the case, why was she not satisfied with a nod but demanded an oath, as if he is
lying, if he does not swear an oath? The poet says that “whatever he assents to with a nod
of his head” [IL 1.527] comes true. Well, the entire thing is part of the myth. For indeed
Homer does not say this on his own account, nor does he introduce what happens, but
he mentions it as a traditional story about the birth of Heracles. One must say that it is
also logical that the story presents Hera as binding Zeus with an oath. For everyone tries
hard to secure those things safely beforehand which they fear may turn out otherwise.
Therefore, since Hera was not fighting over trifle matters and knew that when Zeus saw
Heracles living as a slave, he would be extremely vexed, she too bound him by the stron-
gest restraint. So Aristotle.

Frag. 163 Rose’ = frag. 387 Gigon = schol. A Hom. Il. XIX.108b Erbse =
Porphyry, Ad Il X1X.108 (1.235-236 Schrader = 232-234 MacPhail)

35 Aristotle, Po. 25, 1460b: ei 8¢ undetépws, 6L obTw Qaciv, olov Ta mept Pe@v* Iowg yap oliTe
BéATIOV oVTw Aéyety 0T GANBH, GAN €i ETuxev (omep Eevo@dver: GAN obv @aot. (“If neither of
these solutions [sc. the portrayal of people as they are or as they should be] will do, then the
solution is that such is the tale; for instance, the tales about gods. It is perhaps inappropriate
to say it like this, or untrue, but if it was as Xenophanes thought, the reply is: yet such is the
tale.”)



Did Homer Nod Off? Aristotle and Homeric Problem-Solving —— 231

According to the famous myth, Hera tricked Zeus into swearing an oath that a
child that would be born that same day would rule over the humans; with the
help of the goddess of birth, Eileithyia, she managed to delay the birth of Hera-
cles, thus making sure that Eurystheus would be born before him and become
ruler among the humans. The problem here is why Hera demands an oath,
whereas elsewhere in the Iliad it suffices for Zeus to nod when he makes a prom-
ise. Aristotle’s solution is that the oath was simply part of the traditional myth
and not Homer’s own creation (16 pév ovv 6Aov pubddeg and wg Stadedopévwy
niept TNV ‘HpoxAéovg yéveowv pépvntan). To this he also adds a psychological jus-
tification of Hera’s behaviour: it is natural (eik0Twg) to want the other person to
swear an oath if important matters are at stake. Hera logically goes for the stron-
gest form of restraint.

4 Solutions Based on the Context in Homer

Another way of solving Homeric problems is by assessing the context in which
the Homeric problem is found. Unlike previous critics, Aristotle looks at the
greater picture and the underlying psychological motivations of the characters.
As he says in chapter 25 of the Poetics, the reader needs to ask who acted or
spoke, to whom they spoke, at what point they did this, for whom and for
what purpose.*® An example is frag. 156 Rose’:

8 ti mpokaovpévou “Ektopog eig povopayiav ot pév GAAoL GploTot “aidecbev pev avrva-
oBat, Seloav § VOdEXOaL”, Mevehaog 8¢ mpWTOG GvioTatal Kol HePPEHEVOG TOVG GANOUG

“katedvoato ‘rsvxeot KOAG”, pdxeaBat poBupovpEVOG, OTE B¢ TPOTPATEVTEG 0L EvvEn Avi-
6TaVTO, 0UBAOD 0UTOG £V TOVTOIS elpiokeTal, GAN Ayapépvwv kal Alopidng kai ol Alovteg

36 Aristotle, Po. 25, 1461a: mept 82 ToD kaA@G f pn kaAdg el elpntal TvL {f MénpakTat, 00 povov
OKETTEOV EIG AUTO TO TIEMPAYUEVOV T ElpnpEVOV BAsnovm sl omovdaiov | @adAov, GANG Kol €ig
TOV MPATTOVTA )\syovm mpog OV | 8Te R GTw A oL Evekev, olov &l peifovog dyabod, tva yévnTal,
A peifovog kakod, tva dmoyévntat. (“As to the question whether anyone has said or done any-
thing in a good or bad way: one must not only judge this by looking at what has been done
or said itself, asking whether this is noble or base, but also by looking at the man who did
or said it, to whom he did or said it, when, for whom and for what purpose; for example, in
order to secure a greater good or to avoid a greater evil.”) Traditionally, kaA@¢ f pn kaAdg is
interpreted as “morally good or bad”: see Vahlen (1867) 361-2; Gudeman (1934) 428; Hintenlang
(1961) 14—5n2; Lucas (1972) 240; Gallavotti (1974) 202; Golden — Hardison (1981) 276; Breitenber-
ger (2006) 373; Schmitt (2011) 704-5, 715. According to Carroll (1895) 3340, however, Aristotle
means good from an aesthetic and not from a moral viewpoint. So also de Montmollin (1951) 107.
It is indeed true that looking at the context is not only the solution for moral problems. However,
most scholars do not agree with Carroll: see e.g. Sodano (1965) 230.
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kai T8opevevg kal Mnptovng kai EOpimuAog kai ©dag kai ‘O8vooevg; ¢not 8¢ 6 ApioTo-
TENNG, Ot Grog dxovoog “und €0eN’ €8 €pidog oed dpeivovt QwTi pdxeobat / “Extopt”
ovk EpeMev abbg dvioTaoBal, kai OTL TO TPGTEPOV £k PINOVELKIDG T GvaoTaoLS, Kol Ot
A0 povopaynoag ETvyxavey ANeEdvBpw kai oV kaAdg GmoAAGEaS, Kol VEwaTl ETETPWTO
Uto TavSdpov, kal 3Tt ArokvSuveDEY TODTOV 0UK €Xpv £V @ TO TEAOG HPTNTO TOD TOAE-
pov- émi yap AAe&dvSpou ioov fv T Tol ktvdivou.

Why, when Hector challenges them to a duel, are the rest of the heroes “ashamed to decline
but scared to accept” [Il. VIL.93], whereas Menelaus is the first to stand up and reprehend
the others and “put on his splendid armour” [Il. VIL.103], ready to fight. Yet when the
nine heroes, urged on (by Nestor), stood up, he is nowhere to be found among them; in-
stead, the heroes are Agamemnon, Diomedes, the Ajaxes, Idomeneus, Meriones, Eurypylus,
Thoas and Odysseus. Aristotle says that, once he had heard “do not wish to fight Hector out
of strife, a man who is stronger than you” [VII.111-112], he did not intend to stand up again.
Also, he initially stood up out of strife. And he had already fought a duel with Alexander,
without success, and had recently been wounded by Pandarus. Moreover, he should not
take the risk in a battle in which the purpose of the war was at stake. For in the battle
with Alexander, the purpose of the risk had been the same.

Frag. 156 Rose’ = frag. 380 Gigon = Porphyry, Ad II. VIL.93 (1.107-108 Schrader)

When Hector challenges the Achaeans to a one-on-one battle in Iliad VII, Mene-
laus reproaches the other heroes for not accepting it and volunteers himself (IL.
VII.92-103), but Agamemnon holds him back. After Nestor’s subsequent speech,
nine heroes step forward to accept the challenge, but Menelaus is not among
them (IL. VIL.161-168). This makes him come across as a total hypocrite. Aristotle
considers various explanations. First, Menelaus was deterred from stepping forth
a second time because, when Agamemnon held him back, he had said that he
was no match for Hector (Il. VII.111). Another solution is that Menelaus’ first re-
action was merely an emotional one, induced by @i\oveiia. Aristotle also con-
siders the circumstances preceding Hector’s challenge: Menelaus had already
fought a duel with Paris without much success (IL. 111.340 —382) and had recently
been wounded by Pandarus (Il. IV.139 —147). So he was certainly in no shape to
fight Hector. Finally, Aristotle points out that, if Menelaus were to fight, the
whole purpose of the expedition would be at stake: the Greeks had come to
Troy to get Helen back for him, so if he died the war would be over. In the
duel with Paris, by contrast, the risk had been the same on either side.

Looking at the context, especially at the person speaking, is also Aristotle’s
way of solving some of the blatant “factual” contradictions in Homer. A nice ex-
ample is frag. 146 Rose’, which asks why, in the Catalogue of Ships (Il. 11.649),
Crete is said to have a hundred cities (éxotopmoAlg), whereas, in the fictitious
tale told by Odysseus to Penelope (Od. XIX.173), Crete is said to have ninety cities
(évvnxovta mOAneg).
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B i évranba pev memoinkev “GAAoL 8’ ot Kpritnv EKatOpmoAy Gppevepovto”, év 8¢ ‘0duo-
oeig einwv 6T £ov 1 KpRtn kan kat mtiewpa kai mepipputog, Endyet “év 8 GvBpwrot / oA-
Aot AmELPETIOL Kal EVVIKOVTA TIOANES”; TO YO TIOTE PEV EVEVIKOVTA TIOTE 8E £EKATOV AEyewy
Sokel évavtiov givat. (...) AploTOTEANG 8¢ 0VK &TOMIGV PNoty, €l P TMAVTES T& aUTd AéyovTeg
TEMONVTAL AUTH* OUTWG Yap Kot GAAAAOLG T& aOTd TIavTEADG Aéyey Q@etlov.

Why has he written here “and others who were dwelling around Crete of a hundred cities”
[Il. 11.649], while in the Odyssey, after saying that Crete is beautiful, rich and surrounded
with water, he adds: “in it are many countless men and ninety cities” [0d. XIX.173-174]?
For the fact that he at one point says ninety but at another one hundred seems to be con-
tradictory. (...) Aristotle says that it is not illogical if he does not depict everyone saying the
same. For in this way they should have also said the same things as one another altogether.

Frag. 146 Rose’ = frag. 370 Gigon = Porphyry, Ad I1. 11.649 (1.48 - 49 Schrader = 68 MacPhail)

Nowadays we usually just accept these types of contradictions in Homer as being
inherent to the originally oral transmission of the epics. However, ancient critics
went out of their way to try and make sense of these inconsistencies. Aristotle’s
solution is that these lines are spoken by two different people: Homer himself in
the Catalogue of Ships and Odysseus in the Odyssey.>” As long as it is not the
same person speaking, such contradictions are therefore allowed.*® This also
agrees with what Aristotle says in Poetics 25, viz. that we must check whether
the same person is speaking with regard to the same things.*

37 According to Breitenberger (2006) 383 — 4, mavteg in €l P MAVTEG T& AOTA AEYOVTEG TIEMOUNV-
Taw avT@ implies that Aristotle is talking about different characters, which excludes the narrator.
From this she concluded that the two passages quoted here (1.48.25-29 Schrader and 1.49.7-13
Schrader) do not form one fragment. However, the slight inconsistency might also belong to Ar-
istotle. Incidentally, according to Bouchard (2016) 254, at® is not the agent of the perfect pas-
sive memotrvtau (“if they are not all depicted by him as saying the same things”) but a dative of
comparison governed by ta aUtd (“if they are not all depicted as saying the same things as he”).
If Bouchard is correct, this makes Breitenberger’s argument invalid. Bouchard preferred this in-
terpretation, since the subsequent sentence (“for in this way they should have also said the same
things as one another altogether”) would otherwise be redundant. Note, however, that such re-
dundant sentences are common in Ancient Greek.

38 Ammendola (1907) 25 inaccurately translated the fragment as non c’era nulla di strano in
quella doppia denominazione di Creta, perché cosi conveniva che fosse chiamata and erroneously
concluded that Aristotle agreed with Heraclides.

39 Aristotle, Po. 25, 1461b: T 8 Umevavtiwg eipnuéva oUTw oKOMEV WOTEP Ol €V TOIG AGYOLg
£heyyol el TO aOTO Kal TPOG TO AVTO Kal WOATWS, MOTE KAl aUTOV T TTPOG & aUTOG Aéyel | 6
av @povipog vmodiitat. (“Contradictory statements need to be examined in the same way as ref-
utations in the arguments, viz. whether it is the same thing, with respect to the same thing and in
the same way, so that he contradicts either what he himself says or what an intelligent person
would suppose.”) The same principle is explicitly mentioned in Porphyry, Ad IL V1.265 (1.100
Schrader = 116 MacPhail): 008¢v 8¢ OavpaoTov el mapd Td mownTii Evavtia Aéyetat U0 Sladpwv
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Porphyry next adds two further observations.*® First, “a hundred” in the
Catalogue of Ships might be a metaphor for “many”. This metaphorical explana-
tion was also used by the Alexandrian grammarians to refute the so-called Cho-
rizontes or Separators, who used such contradictions between the Iliad and
Odyssey in order to prove that these were written by two different poets.** Por-

PWV@V. oo PV Yap EQn avTog &g’ Eautod £ idiov poswov, TaiTa Sl dkoéAovda ivar kal pn
évavtia dAnAotg' doa 8¢ mpoowmolg TePLTiOna, oUk avToD eioy GAAG T@V AgyovTwv voeiTal,
60ev kal Embexetal moAGkig Stapwviav. (“It is not at all surprising if contradictory statements
are given in the poet by different characters. For everything that he said himself from his own
persona must be consistent and must not contradict each other; but everything that he attributes
to characters are not his own words but are considered words of the people speaking them. By
consequence, he often allows discrepancies.”)

40 Porphyry, Ad IL. 11.649 (149 Schrader = 68 MacPhail): pimote 8¢ kal peTa@opd £0TL T& £Ka-
TOV* TTOAD Yép TL £0TL T& EKATOV, (G £K “TAig EKATOV BDGAVOL”. 0D Yap EKATOV foav AplOpd@: kol
“EkaTov 8¢ Te Sovpat’ GudEng”. Enerta ov8apoD AEyeL WG EveVviKOVTa poval ioiv: év 8¢ Toig Exa-
TOV Kol évevikovta. (“But perhaps a hundred is also a metaphor. A hundred is a large number,
as in ‘a hundred tassels (were suspended) from it’ [II. 11.448]. For they were not a hundred in
number; and ‘a hundred are the beams of a wagon’ [Hesiod, Op. 456]. Moreover, he nowhere
says that there are only ninety; ninety are also part of a hundred.”) According to Rémer
(1884) 287, Ammendola (1907) 25, Hintenlang (1961) 67-9, Breitenberger (2006) 384 and
Heath (2009) 255-6, these two explanations go back to Aristotle; Sodano (1974) 23 and 26-8
attributed only the metaphorical explanation to Aristotle but excluded the second one. The
two additional explanations were omitted, however, by Rose (1863) 157, (1870) 1502, (1886) 123
and Heitz (1869) 132—-3. What speaks against the attribution of Porphyry’s additional explana-
tions is that they are introduced by pAmote “but perhaps”; elsewhere in Porphyry, this usually
introduces the last solution, which seems to be Porphyry’s own: see Porphyry, Zetemata Vatica-
na 10 = Ad IL. XX1.362ff. (1.252 Schrader = 55 Sodano) (uAmot owv, etc.); Ad IL. 11447 (1.44.32
Schrader) (kai pmote &M prtéov 811, etc.); Ad IL. IIL98fE. (1.54.12 Schrader) (pnTéov ovv BTt
pAmoTe, etc.); Ad IL V1,200 -201 (1.95.6, 10 Schrader) (f{ ufmoTe... pmoT ovVv, MG QapEY, etc.);
Ad Il. XI1.10-12 (1.172.20 Schrader = 192.13 MacPhail) (unmot ovv, etc.); Ad Il XIL.127-132
(1.177.35 Schrader = 200.8 MacPhail) (unnote 8¢, etc.); Ad Il XIV.200 (1.191.25-26 Schrader =
214.37 MacPhail) (pnnote 8¢ xai, etc.); Ad II. XIV.304-306 (1.197.19 Schrader) = XIV.423-424
(220.10 MacPhail) (unmote 8¢, etc.); Ad II. X1X.221 (1.237.26 Schrader = 236.17 MacPhail) (unmote
8¢, etc.); Ad I XX.329 (1.248.10 - 11 Schrader = 288.3 MacPhail) (uAmote 8¢ kai, etc.); Ad Od. 1.1
(I1.1.12 Schrader) = schol. Hom. Od. L1 11 Pontani (pfmote ovv, etc.); Ad Od. V.334-337 (IL57.6
Schrader) = schol. Hom. Od. V.334e Pontani (unmote 8¢, etc.); Ad Od. 1X.25-26 (1.82.16-83.1
Schrader) (unmote 8¢, etc.); Ad Od. XVI.188 (11.122.18 Schrader) (uAmote 8, etc.). See MacPhail
Jr. (2011) 7n60; Bouchard (2016) 254. An exception is Porphyry, Ad II. 11.305-329 (1.33.10 Schra-
der = 44.9 MacPhail) (uimot odv, etc.).

41 See schol. A Hom. IL 11.649 Erbse: ipog Tovg Xwpifovtag, 6Tt vOv pév ékatopmolw v Kpn-
v, év '08vooeiqt 8¢ £vevnkovTamoAy. ATol 0DV EKATOUTOAY GvTl ToD MOADMOAW, f| émi TOV
oUveyyug kai drapTtifovta &plOpov katevivektat viv, &v 08uooeiq 8¢ TO dkplEg E&evivoxey,
WG Tapa Zo@OKAEL Tveg B8€ @aot trvAatpévnt Tov Aakedoupoviov SexdmoAw ktioat. (“In refer-
ence to the Separators, who objected that on this occasion he calls Crete ‘of a hundred cities’,
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phyry’s second argument is more convoluted, however: he argues that, technical-
ly, Homer does not say that Crete has only ninety cities, i.e. saying that there are
ninety cities does not exclude the possibility of there being a hundred cities.
Other writers, by contrast, tried to defend both numbers as being correct.
Heraclides Ponticus, whose work of Homeric Solutions 1 mentioned at the begin-
ning, is one of these. He claims that there were originally a hundred cities, but,
after the fall of Troy, Idomeneus and his men destroyed ten of these;** so by the
time Odysseus returned to Ithaca, he had heard of the event and “updated” the
number. Another writer who proposed a solution similar to that of Heraclides is
the historian Ephorus, who claimed that, after the Trojan War, a decapolis was
founded, which increased the number of cities from ninety to a hundred.*

but in the Odyssey ‘of ninety cities’. Well, either he uses ‘of a hundred cities’ in the sense of ‘of
many cities’, or he has rounded it up to the closest number here but, in the Odyssey, has given
the exact one, as is the case in Sophocles (frag. 899 Radt). Some people claim that the Spartan
tPylaemenest founded the Decapolis.”) The alternative solution reported in the Viermdnnerkom-
mentar is that ninety is the correct number, whereas a hundred is a rounded number, or that a
decapolis was later founded by “Pylaemenes” (probably an error for Althaemenes, as the name
is found in Ephorus).

42 Heraclides Ponticus, frag. 99 Schiitrumpf = Porphyry, Ad Il. 11.649 (1.48-49 Schrader = 68
MacPhail): ‘HpakAeidng pév obv kai dAAot Aewv émeyeipouv obtwg émel yadp pubeveTal ToUg
pet’ I8opevewg o Tpoiag dromAevoavtag Topdijcar AVKTOV Kai TAG £yyUG TIOAELS, &G Exwv AgD-
kwv 6 TéAw moAepov EEnveyke Tolg €k Tpoiag ENBoDaLY, €ikdTwWG Gv @aivotto pdAAov Tod mown-
ToD 1 dxpiPeta fi EvavTiodoyia Tig. oi pev yap eig Tpoiav ENBOVTEG £€ EkaTov Roav TOAEwWY, ToD 8¢
'08ve0EWC €ig otkov fikovTog £Tel SekdTw petd Tpoiag BAwowy kai @AUNG Sinkoveng, dTt Mendp-
Bnvtat 8éka moAelg év Kpntn kai oVk €iot mwg ouvwKiopévat, peta Adyou @aivolt’ v ‘08uooevg
Aéywv évevnkovtémoAw v KpAtny. OoTe, i kal pr| & adTd mept TOV aOT@V AéyeL, oV pévTol
81t tovTo kai Pevdetal. (“Now then, Heraclides and others attempted to solve it in the following
way: since it is said that, after sailing away from Troy, Idomeneus and his men sacked Lyctus
and the nearby cities which had been in the possession of Leucon, the son of Talos, who brought
war on them as they came from Troy, this would actually be an indication of the accuracy of the
poet rather than a contradiction. For those who had gone to Troy had come from a hundred cit-
ies, but while Odysseus was returning home in the tenth year after the capture of Troy and a
rumour was circulating that ten cities in Crete had been sacked and were not inhabited in
any way, Odysseus would obviously call Crete ‘of ninety cities’ with good reason. Consequently,
although the poet does not say the same things about the same people [or: “in reference to the
same thing”], he nonetheless does not lie because of it.”) Interestingly, the last sentence echoes
Aristotle’s words “it is not illogical if he does not depict everyone saying the same” (00x dtomov
@NOW, el ur| MAVTEG T aOTA AéyovTeg memoinvtat avt®). However, this comment at the end of
Heraclides’ fragment (which Porphyry cites right before Aristotle’s solution) might also be Por-
phyry’s own conclusion. Whatever the case is, the two philosophers obviously disagreed here
about how to solve the contradiction in Homer.

43 Ephorus, frag. 146 Jacoby = Strabo X.iv.15, 479c: ToD 8¢ o ToD TO PEV EKATOUTOAV AEyovTOg
v Kprny, 10 8¢ évevnkovtanoAw, "EQopog pev DoTepov EmKTIO0R VAL TAG SEKA POl HETX TA
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Disagreement with Heraclides is also seen in frag. 147 Rose’, which deals
with the Teichoscopy in Iliad III.

8o i v ‘EAévnv memoinkev dyvoodoav miept TV &8eA@@v 6Tt oV mapiioav, SekaeTolg ToD
TIoAépov BvToG Kal alHoAWTwWV TOA@V Yivopévwv; GAoyov ydp. £TL 8¢ kai €l qyvoel, GAN
oUK TV Gvatykaiov pvnaodivat TouTwv ovk épwtndsioay o Tob Mptdpov mepi avTMV: 0VSE
YAp PO TNV ToiNGY Tpd Epyou MV 1| TOUTWV PVAN. ot pév 0OV AploToTéAng: lowg Htd
10D AAeEGVEPOU EVTUYXAVELY EQUAGTTETO TOTG aiypoA@ToLG. T Smwg TO 1B0g PeATiwy Pavii
Kal P moAvmpaypovoin, 008 Toug ddehpoug fidet dmov eiot.

Why has he portrayed Helen as being unaware that her brothers were not present, even
though the war was in its tenth year and many prisoners were held captive? That is illog-
ical. Moreover, even if she was unaware of their fate, there was no need to mention them,
since Priam had not asked her about them. Mentioning them was not relevant from an ar-
tistic viewpoint either. Aristotle says: perhaps she was prevented by Alexander from meet-
ing the prisoners. Or maybe she did not even know where her brothers were so that her
character might appear better and she would not come across as meddlesome.

Frag. 147 Rose’ = frag. 371 Gigon = Porphyry, Ad II. 111.236 (1.58 Schrader)

When Helen is describing the Achaean heroes (I1. 1I1.236), she says to Priam at a
certain point that she cannot see her brothers (Castor and Pollux) and speculates
that they either never joined the expedition or are not showing themselves in
battle out of shame for her, showing herself unaware that they are actually al-
ready dead and buried in Sparta. The problem is that, since the war had already
been going on for over nine years, you would expect her to know about her
brothers’ absence by that time.

Let us first look at Heraclides’ solution, which (like Aristotle’s) is reported by
Porphyry.** He suggests that the Greek army had split up to attack other cities in

Tpwikd VMO T@OV ANBALPEVEL TH Apysuu ovvaKOonencavrwv Awptéwv* OV pév ovv 08vocia
Aéyel veVKOVTATOALY Hvopdoat. oUTOG PEV oVV TBavEg £0Ty 6 Adyog. &AAot 8 Do TV T8ope-
VEWG £XOp@V Kataokagiival @paot Tag 8éka. (“Since the poet says that Crete has a hundred cities
in one passage and ninety in another, Ephorus states that the additional ten were founded later
after the Trojan War by the Dorians who came with Althaemenes of Argos. And he notes that
Odysseus calls Crete ‘of ninety cities’. This is a plausible explanation. Others, however, claim
that the ten cities were sacked by the enemies of Idomeneus.”) The second explanation reported
by Strabo (&GAAou) is that of Heraclides.

44 Heraclides Ponticus, frag. 100 Schiitrumpf = Porphyry, Ad I1. 111.236 (1.59 Schrader): &nibavov
gtvat Sokel, £vvéa £TMV SleNddVTwY ToTg “EAMnatv £v Thiw, pndéva tév PapBapwv &rayysilat i
‘EAévn Tepl TV G8eA@GV, £ite kal avTol dpikovTto eig TOV OAepov ite BAwg ovk NABoV &ig
Tpoiav, f| ENBOVTEG 00K EERABOV €ig TV HaxNV* 0V Yap EViV TOLOVTOUG oqu W] 00Y VTIO TGVTWV
Yiviokeohat mapdvTag £ig TV Tpoiav. Aéyet 8¢ ‘HpakAeidng, 6Tt dAoyov fiv Svtwg TodTo, &l Sia-
Teleodvtwy év Tfi Tpoig mévtwv EAMvwv évvéa £tn pndev mept TOv &8eh@dv €oxev ‘EAEvN Aé-
yew el 8¢ o0 mévteg Roav of oTpatevcavTeg v Tpoiq, GAN oi pév mept AéoBov kai TG GAAaG
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the vicinity. Since not all Greek heroes were present in Troy, it was therefore im-
possible for the Trojans to know which heroes had joined the expedition. Por-
phyry also reports another solution immediately after this, which he may have
taken from Heraclides as well: since the Trojans were unsure whether Helen’s
brothers were alive or dead, they kept her out of the loop and never reported
any news.* This point gets a surprisingly Aristotelian twist since it is said that
barbarians are typically reluctant to report bad news to their rulers, a custom
still observed to this day. Both explanations assume that news can only reach
Helen through Trojans, who either did not know it themselves or were unwilling
to give the information.

Aristotle, by contrast, points out that the Trojans also had Greek prisoners,
which undermines Heraclides’ whole argument.*® However, Aristotle’s own solu-
tion is no less contrived than that of Heraclides. He gratuitously assumes that
Paris made sure to keep the prisoners away from Helen. Yet Aristotle also adds
an explanation based on Helen’s character: portraying Helen as being unaware
of her brothers’ fate shows that she does not wish to meddle with actual warfare,

VRGOV, &G oi Kapeg eiyov, émdpBouv, MOAelg 82 kal Tév £v Tij fimeipw, o08EV fiBel el oTpdTevcaV
A ob. (“It seems to be implausible that, after nine years had gone by for the Greeks in Troy, not
one of the barbarians had reported to Helen about her brothers, whether they had also come to
the war or had not come to Troy at all, or had come but did not go into the battle. For it was not
possible that men of such a stature would not be recognized by everybody, if they had come to
Troy. Heraclides says that this really was illogical, if, since the Greeks had all spent nine years in
Troy, Helen was not able to say anything about her brothers. But if not all those who had joined
the expedition were present in Troy, but some were besieging the area of Lesbos and the other
islands, which the Carians occupied, while others were attacking cities in the west, she did not
know at all whether or not they had joined the expedition.”)

45 Porphyry, Ad IL 111.236 (1.59 Schrader): mBavwtepov 8¢ mpoodeival, OTL APAVICHEVWY TOD
Kéotopog kai o0 MoAvdevkoug kai SokoUvtwy TeBvaval, Stk TO pn eidéval Toug dvBpwmoug
T0 oupPePnKOG, pnte OTL €teBvrkeoav pnte i €T eiolv, ovk AvryyéMeto Tfi ‘EAévn mepi
avT@V. o0L8E yap & Suoxeph ot BapPapot Tolg SuvaoTtalg mavta oty eibopEvol dmayyEAEL.
Kol TOUTOV oMK Tapadetyparta Aéyety E0Ttv: Tt y&p Kal ViV xp@vral @) £0eL. 008EV 00V K-
Avev GupLdo&eiv mept avt@v Vv EAévnv. (“It is more trustworthy to add that, when Castor and
Pollux had disappeared and were believed to be dead, people did not report any news to Helen
about them, seeing as they did not know what had happened to the men, neither that they were
dead nor whether they were still alive. For barbarians are used to not reporting all the bad news
to their rulers either. It is possible to cite many examples of this. It is now too their custom. So
nothing prevented Helen from being in doubt about them.”)

46 This interpretation also recurs in schol. bT Hom. Il. 111.236a Erbse (fyvoel 8¢ & mept avT@v,
{owg pn ovyxwpovpévn cuvtuyxGvely Toig aixpaAwtotg, “she did not know about them, proba-
bly since she was not allowed to meet the prisoners”). As Scodel (1999) 182 pointed out, how-
ever, only Trojan prisoners are mentioned in the Iliad but no Greek ones.
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which matches Homer’s positive portrayal of her.*” Interestingly, Aristotle’s first
remark on Greek prisoners implies that this is a reaction to an existing interpre-
tation; otherwise, it would be unnecessary for Aristotle to bring this up in the
first place. Therefore, this suggests that Aristotle’s work was probably written
after Heraclides’.*®

5 Solutions Based on the Language

Having discussed Aristotle’s solutions based on the poetic representation and
the context, I will now look at the third big category of solutions: those based
on a correct understanding of the language. These are essentially linguistic or
philological solutions that involve, for instance, an archaic word, a metaphor,

47 Porphyry actually mentions two problems: (1) why is Helen unaware of her brothers’ fate,
and (2) why does Helen bring up her brothers here, although Priam did not ask her about
them and mentioning them is not relevant for the plot? According to Breitenberger (2006)
385, Porphyry has not recorded Aristotle’s solution to the second problem. However, the refer-
ence to the portrayal of Helen’s character can also be seen as a solution to this problem: al-
though the detail might not be relevant for the plot, it does serve the artistic purpose, viz. of re-
habilitating Helen’s character: see Hintenlang (1961) 114n2. In fact, after citing Aristotle,
Porphyry goes on to comment on Helen’s portrayal in Homer and argues that such details are
necessary (kal f| pviipn 0OV dvaykaia gig GVOTAGY TOD TPOSWMOL, “s0 mentioning them is nec-
essary for the portrayal of her character”) and are meant to show that Helen is held in Troy
against her will (paivetar 8¢ mavta koi Aéyouoa kal oikovopodoa, dmwg 6 Te TIplapog kal ot
Mot mewdwot Tpweg, 6TL GKOVOLOG Kal Topa YVWpNv avTiig 1 €l tov "TAtov yéyovev G@i&Lg,
“she is seen to say and do everything to convince both Priam and the other Trojans that she
has come to Troy involuntarily and against her will”). Unlike Rose (1863) 158, (1870) 1502,
(1886) 123 and later Gigon (1987) 529, Heitz (1869) 133 also included the latter sentence
(which follows immediately after fj dnwg 16 RO0g PeATiwv Pavii kal pf| ToAVTPaAypOVOin, OVSE
Toug G8eApoug fideL dmov eiot) as part of the fragment of Aristotle. So also Ammendola (1907)
10-2. Romer (1884) 288, in contrast, rejected this and instead argued that this sentence is
part of a reply to the opinion of the Separators, who used the contrast between the portrayal
of Helen in the Iliad (where she is distraught and complains about her abduction) and the Odys-
sey (where she came to Troy willingly) to show that the Iliad and Odyssey were written by two
different poets: see schol. A Hom. Il I1.356al Erbse. According to Romer, this part was wrongful-
ly inserted in the discussion about the Homeric problem. However, the subsequent discussion
shows that the comment does not regard the Separators and is part of the motivation why
Helen mentions her brothers. Rémer may have been right, however, to exclude the sentence
from the fragment of Aristotle, since it does not entirely fit Aristotle’s explanation: according
to Aristotle, Homer does not want to portray Helen as meddlesome, whereas Porphyry’s subse-
quent explanation states that Homer wants to show that she is held against her will. The quo-
tation of various passages in Homer which mention Helen is also a trait of Porphyry’s method.
48 See Heath (2009) 258 -9.
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polysemy, a homonym or other types of ambiguity. For example, when we read
that Ganymedes “pours wine” for Zeus (an example cited in the Poetics), we
should not be too pedantic and object that the gods drink only nectar but no
wine.* It is just a figure of speech. Surprisingly, Aristotle forgets this explanation
in frag. 170 Rose’, which deals with Hermes’ visit to Calypso in Od. V.93.

€l pndev &ANo tivouav ot Beol {| TO VékTap, S1a Tt avTo { KaAvpw 1@ Eppfi kepdoaoa Sidw-
ow; el yap KeképaoTtat ouv VSTl 00 POVOV TO VEKTAP, GAAG kal DBwp mivouowy. kaitot,
@not, YAV &pppociov mapebnkey, “képacce 8¢ VEKTAp EpUOPOV”. Awv oLV 6 ApIOTOTEANG
TO KEPAOOE POty T{Tot TO pi&at GANo GAAw VLYP® SnAot 1] TO yxéar duew yap SnAot To ke-
pdoat. Vv obv TO “képacoe 8¢ véktap £pubpdv” ob TO pifat SnAol, GAAG PIAGS Eyxéat.

If the gods do not drink anything else but nectar, then why does Calypso give it to Hermes
after mixing it? For if it is mixed with water, they drink not only nectar but also water. None-
theless, he says, she served him mere ambrosia “and mixed red nectar” (képaooe 8¢ véxtap
€pubpdv [0d. V.93]). Solving the problem, Aristotle says that képaooe means either “mix one
fluid with another” or “pour”. For kepdoat can mean either. So, in this case, képaooe 8¢
véktap €pubpov does not indicate “mixing” (ui&at) but simply “pouring” (Eyxéau).

Frag. 170.1 Rose’ = frag. 393.1 Gigon = schol. Hom. Od. V.93el Pontani
(Porphyry, Ad Od. V.93, 11.50 Schrader)

~ o N o \

€l undev dA\\o mivouav oi Beot 1 vektap, g i Koahvpw adto kipvl Ddaty; (...) {{ OTL TO Ké-
pOoE KATA TOV ApLoToTEANY, WG 6 Mlopeuplog Aéyel, ob povov dnhol T0 Hio GAAw VYp®,
A& kol TO €yxeat PIADG.

If the gods do not drink anything else but nectar, then why does Calypso mix it with water?

(...) Or, according to Aristotle, as Porphyry says, képaoe indicates not only mixing (pi€at)
with another fluid but also simply pouring (Eyxéau).

Frag. 170.2 Rose’ = frag. 393.2 Gigon = schol. Hom. Od. V.93c2+e2 Pontani

Homer says that Calypso “mixed red nectar” for him (képaooe 8¢ véktap €pv-
Bpov): mixing it means adding water, which the gods do not drink. Aristotle’s
solution is that képacoe does not mean “mix” (Higat) but “pour” (¢yxéai).>® How-

49 Aristotle, Po. 25, 1461a: 10 8¢ katd 10 €00¢ Tig Aé&ewg (...) dBev elpntar 6 Tavupndng “Au
oivoyoevEIV”, o0 TIVOVTWY olvov. £l & av ToDTO ye kol KaTd peTagopdv. (“Other problems
are solved in reference to fixed expressions (...) therefore, Ganymedes is said to ‘pour wine for
Zeus’ [Il. XX.234], although they do not drink wine. This might also be metaphorical.”) Another
problem linked with this passage in the Iliad is why, in IL. IV.2, Hebe is said to pour wine for the
gods, whereas, in Il. XX.234, Ganymedes has this function: see Porphyry, Ad II. IV.2 (1.67-68
Schrader) = Ad II. XX.232-235 (242 MacPhail).

50 See also schol. Hom. Od. V.93c1 Pontani (képacoe 8¢ véktap £puBpov: Avti ToD Evéxeev: oV
Yap kipvatal o véktap, “she mixed red nectar: instead of ‘she poured’, since nectar is not
mixed”). Schol. Hom. 0d.V.93d Pontani = D schol. Hom. Od. V.93¢c Ernst combines this interpre-
tation with a supposed old custom of pouring wine in a horn (képag), thus also giving it a half-
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ever, kepavvup always means mix in Homer. The most straightforward explana-
tion is that this is just a projection of a human custom onto the gods. That is also
why Homer calls nectar €puBpdg here, which is the usual epithet of wine.*
Indeed, Aristotle’s understanding of the Homeric language is often misguid-
ed, especially when it comes to the meaning of archaic words. I will illustrate
this with two examples, cited in the Poetics. At the beginning of the Iliad, Apollo
famously sends the plague onto the Greek army. In Homer, Apollo first shoots his
arrows at the mules and dogs and then strikes the humans: ovpfiag pev mp@Tov
ETIWYETO Kal KUVAG GPyovs, / abTap Emert” aiTolol BENOG EXeMeVKES EQIELS / PAAN
(I1. 1.50 — 52), “He first attacked the mules and the swift dogs; next he hit the peo-
ple, firing his sharp arrow at them”. This scene was ridiculed by Zoilus of Am-
phipolis, the famous critic of Homer: why does Apollo start with mules and
dogs when he sends the plague?>® Aristotle’s creative solution to this problem
is that ovpfiag means @UAakag, so Apollo first shoots the guards.>® This solution,
which should probably be seen as a direct reply to Zoilus, thus assumes that ovp-
e0g is a synonym of Homeric oUpog. However, ancient lexicographers are very

baked etymology (£oTtv oDV PIADG GvTi ToD Evéxeev amo Tiig dpyaiag cuvnBeiac. eig képag yop
gyxéovteg émvov, “the word is used merely in the sense of ‘she poured’, on the basis of an old
custom; for people used to pour wine into a horn to drink it”). See also Eustathius, Ad Od. V.93
(1.202 Stallbaum): 10 8¢ képace vékTap, oL Aol Kpapa Tt, GAN’ Gvti ToD €véyee kettal, WG &mod
nohaudg xpnoews, kad fv wg kal dGAAayod oap®g 5nAwon, képaot {pwv Eyxeovteg Emvov (“the
phrase ‘she mixed nectar’ does not indicate some form of mixture but is used instead of ‘she
poured’, on the basis of an old custom, according to which people used to pour wine into the
horns of animals to drink it, as is also clearly seen elsewhere”); and Etymologicum Magnum
sv. veokpatag omovdag 537 Kallierges: kai “Opnpog, “képacoe 8¢ véktap €pubpov”. dvti Tod
énéyeev' o0 yap VSTt kipvdTar TO véktap (“so also in Homer: ‘she mixed red nectar’ [Od.
V.93], in the sense of ‘she poured’, since nectar is not mixed with water”).

51 See Homer, Od. V.165, IX.163, 1X.208, XII.19, XI1.327, XII1.69, XV1.444; also Eustathius, Ad Od.
V.93 (1.202 Stallbaum): £puBpov 8¢ vékTap, kad’ dpoldTTA ToD “oivog £puBpds” (“red nectar, in
the same way as ‘red wine’”). See Hintenlang (1961) 56.

52 Zoilus, frag. 5 Jacoby = Heraclitus Homericus, All. XIV.2: o) yap obTwg &kpltov Rv mapa-
VoAwpa TG AOAAwVOG Opyfg T& dAoya TV {pwv 0V’ &v 6 BUROG APPOVWS MILOVOLG EVAKNATE
kal kuotv, ©g TO Bpakikov GvSpdmodov ‘Oprpov kateEavioTatal, Aéyw 8¢ TOV ApputoNitn Zwi-
Aov Gvw kal K&Tw ToovToug TVaG Afpoug @Anvagodvta. (“It was not so unreasonable that
Apollo’s anger killed the animals without reason, nor did his anger rage foolishly against
mules and dogs, as the Thracian slave accused Homer. I am speaking of Zoilus of Amphipolis,
who continuously blurted out such nonsense.”)

53 Aristotle, Po. 25, 1461a: T& 8¢ mpog TRV AéEwv Op@vTa et SlalveLv, olov YAWTTH TO “ovpiiag
pév mp@tov”™* {owg yap ov Tovg AHIOVOUG Aéyel GAAK TOUG @UAakag. (“Other problems must be
solved by looking at the diction, for example, with a rare word in “first the ovpfiag’ [II. 1.50]. For
perhaps he does not mean the mules [fpdvoug] but the guards [@UAakag].”)



Did Homer Nod Off? Aristotle and Homeric Problem-Solving —— 241

clear that o0pevg does not have this meaning.> This interpretation is also explic-
itly rejected in the Viermdnnerkommentar, which points out that it is contradicted
by avtap Enert’ avtoiot: Homer clearly means that the plague first hit the ani-
mals and only then the humans.>

The second example from the Poetics deals with the moment when the envoy
of Phoenix, Ajax and Odysseus arrives at Achilles’ tent in Iliad 1X. Achilles in-
vites them to have a drink with him and instructs Patroclus to bring a larger
bowl and mix a stronger wine: {wpdtepov 8¢ képate (II 1X.203). Zoilus of Am-
phipolis was among the critics to object that it is inappropriate to serve undilut-
ed wine to one’s guests.”® Essentially, Achilles is presented here as someone who
is trying to get people drunk. Again, Aristotle engages in linguistic acrobatics:
his solution is that {wpotepov does not mean “unmixed” (dkpatdTepov) but
“faster” (BdtTov).”” Interestingly, this idiosyncratic solution recurs in Porphyry
as well, who reports it as an anonymous tradition (oi pév).’® This passage in Por-

54 See D schol. Hom. Il. 1.50 van Thiel: oVpfiag. Opelg. Rdvovg. vmoldyla (“obphog: OpeEls,
mules, beasts of burden”); Apollonius, Lex. sv. ovpijag 124 Bekker: oUpiiag: fipdvous. [fitot opt-
Batodat], 81 T0 dpovEWV TPOG TOVG GvavTelg TOMOLG (“ovpiiag: beasts of burden, [they climb
mountains], because they run to places uphill”; I have bracketed fitot 6piBatodot as a gloss,
probably to dpovewv; fitot is a common way of introducing glosses).

55 Schol. A Hom. I1. 1.50a Erbse: 6Tt 00k 0pB@¢ TIveg ovpiiag ToUG GUAAKAG" AvTISIAOTEANEL YOP
8w Tob “adtoior”. (“Some people incorrectly explain ovpfiag as ‘the guards’; however, this is
contradicted by ‘at them’.”) See schol. A Hom. II. X.84a Erbse: € Tiv’ ovpriwv: GBeteital, 6t
ovpwv BovAeTaL Aéyely TV QUAGKWY, Kal OUK EKPATNOE TOD GYAUATOG OUPOV Yap AEyel Mg
KoDpov TOV @UAaKa, oUpéa 8¢ TOV Tiovov. kai &L dkapog N Epwtnots. (“Or one of your
mules [ovprwv]: this part is deleted, since ovprwv is supposed to mean ‘the guards’; the
form does not have this meaning: for he [sc. Homer] uses ovpog like kobpog for guard but ovpevg
for mule; and also because the question is improper.”)

56 Zoilus, frag. 4 Jacoby = Plutarch, Quaestiones convivales V.iv.2, 677e: GAAQ peWpaKLwdn TV
@OTIHIAV aOTOV GEPAVOV, SeSIOTWV OPOAOYETV AKpaTOTEPOV EipfioBat TO {wpdTEPOV, WG €V
4tomw Tvi ToD AYAEwg éoopévou, kaBdmep 6 Ap@urolitng Zwilog vmeAdpfavev. (“But I point-
ed out that their effort was schoolboyish because they were afraid to admit that {wpdtepov
means ‘stronger’, as if Achilles would find himself in an awkward position, as Zoilus of Amphi-
polis claimed.”)

57 Aristotle, Po. 25, 1461a: kai 10 “wpdTtepov 8¢ képate” 00 TO drpatov WG oivOPAVEV GAAG TO
Bartov (“and {wpoTtepov 8¢ képate (1. 1X.203) does not mean ‘mix it undiluted’ [xpatov] as for
drunkards but ‘mix it faster’ [0&tTOV]”).

58 Porphyry, Ad Il 1X.203 (1.135 Schrader = 283 MacPhail): &ripenég wg yap £mt kDPOV KOGV
GrpatdTEPOV S18OVAL MapakeAevETAL. Of PEV Y&P GO THG AéEewg Abovat: T yap wpdTepov elvat
Taylov. (“This is inappropriate. He orders to give them unmixed wine as if they have come for a
party. Some people solve the problem on the basis of the diction: {wpdtepov means ‘faster’.”)
Aristotle’s interpretation also lives on in Hesychius { 257 Latte: {wpdtepov: GkpatoTEPOV:
éviot 8¢ tayov (“Cwpotepov: less diluted; according to some, it means ‘faster’™).
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phyry shows that he (or the excerpting scholiast) does not always mention Aris-
totle by name when he uses his work, which implies that still more anonymous
material from Aristotle’s Homeric Problems may be hidden in Porphyry.

I1. 1X.203 provides the only attestation of the word {wpdg in Homer, which
ancient writers therefore interpreted in various ways. Theophrastus, Aristotle’s
famous student, claimed in his work On Drunkenness that the word actually
means the opposite, viz. “mixed”.*® So both Aristotle and Theophrastus try to
avoid making Homer say that Achilles is serving unmixed wine and is thus trying
to get his guests drunk.®® However, their solutions both fall flat, since elsewhere
in Greek literature {wpdg always means “unmixed” or “strong”.®! Theophrastus
quotes Empedocles for the supposed meaning “unmixed”, but there are textual
problems with that fragment of Empedocles.®> Theophrastus quotes the line as
{wpd Te T& Tpiv Gkpnta “what was unmixed before became zora (mixed)”.
Wright, the most recent editor of Empedocles, however, actually reads this line
as {wpa Te mpiv kékpnto “what was zora (unmixed) before became mixed”.®

Apart from lexical obscurities, a Homeric problem can also involve syntactic
ambiguity. That is, there may be more than one way of interpreting a certain line
grammatically. An example concerns the famous problem of Nestor’s drinking
cup described in Il. X1.632—637.

59 Theophrastus, frag. 574 FHS&G = Athenaeus 10, 424a: Oedppaotog & év 1@ Ilept pébng
{wpdTeEPOV @OV €ival TO Kekpapévov, mapatiBépevog ‘EumedokAéovg Tade: “alpa 8¢ Bvnta
@VOVTO, T& TPtV pdBov aBdvat eivar, / {wpd Te T& TPV dkpnTa, StaAdocovta keAevOoug”.
(“Theophrastus in his work On Drunkenness says that what is mixed is {wpotepov, citing the fol-
lowing lines of Empedocles [frag. B35.14—15 DK = frag. 47.14—15 Wright]: ‘What had previously
been accustomed to being immortal immediately became mortal, and what was previously un-
mixed became {wpd, changing its path’.”)

60 Alternative interpretations were that {wp4tepov meant “hotter” (as if related to (¢w, “boil”),
“livelier” (as if derived from {qw, “live”) or “old” (a supposed compound of {a- and (f)pog). See:
Plutarch, Quaestiones convivales V.iv.1, 677¢-678b; D schol. Hom. II. IX.203 van Thiel; and Athe-
naeus 10, 423e —424a. Plutarch calls all the previous attempts at making sense of {wp6tepov a
frivolous game. In his view, Achilles serves unmixed wine simply because Phoenix and Odysseus
are old men and therefore prefer strong wine.

61 See also Apollonius, Lex. sv. {wpotepov 81 Bekker: {wpdTtepov: AKpaTOTEPOV.

62 Empedocles, frag. B35.14—15 DK = frag. 47.14—15 Wright. Aristotle quotes these very lines of
Empedocles in Po. 25, 1461a as oo & OvAT £@hovTo Ta mptv pudBov aBdvat eivat / {wpd Te mpiv
kékpnro. The line is also quoted in Plutarch, Quaestiones convivales V.iv.1, 677d ({wp& Te TQ ipiv
dkpnta); Simplicius, In Cael. 529 Heiberg and In Ph. 33 Diels (both read {wpd e Ta Tipiv GxpnTa).
63 Wright (1995) 113, 208. So already Arundel (1962). Diels — Kranz (1951) 328, in contrast, read
{wpd Te T& Tplv GrpnTa. See also the discussion in O’Brien (1965), West (1966) and Solmsen
(1967).
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dua i memoinke pévov OV NéoTopa aipovta TO EKTwpa; oV yap eikdg pdov aipev vewTEpwv
(...) ApotoTeAng 8¢ 10 “NéoTtwp O yépwv” Amo kowod £pn Selv dkovewv €t Tod “GANog”, TV’
° dAAOg pev yépwv poyéwv dmokivioaoke Tpaméng, NéoTwp 8 O yépwv dpoynti detpev.
TPOG Yap TOUG Kad’ MAkiav Opoiovg yevéabat TV cUYKpPLOLV.

Why has he depicted only Nestor raising the cup? For it is not likely that Nestor raises it
more easily than men who are younger (...) Aristotle said that one must understand “the
old Nestor” (Néotwp O yépwv) jointly with “another” (GA\og), so that it is: “another old
man had difficulty moving it from the table, but the old Nestor lifted it with ease”. For
the comparison is in regard to those who are similar in age.

Aristotle, apud Porphyry, Ad Il. X1.637 (1.168 Schrader = 188 MacPhail)**

The scene includes the following peculiar comment: GANOG HEV HOYEWV GTTOKLVI-
oaoke Tpamelng / mAglov €6v, Néotwp & 0 yépwv dpoynti Gelpev, “anyone else
had difficulty moving it from the table when it was filled, but the old Nestor lift-
ed it with ease” (II. X1.635-636). How can it be that the old Nestor manages to lift
the cup, while none of the other, much younger and stronger heroes can? This
puzzled many people in antiquity, who tried to solve the problem in various
ways.

A first man who tried to solve the problem is Stesimbrotus of Thasus, whom I
have already mentioned at the beginning as one of the first writers who dis-
cussed Homeric problems. Stesimbrotus assumed that despite his old age, Nestor
kept his strength, which is why he was able to lift the cup.® Appealing to Nes-
tor’s strength is justified; yet it does not explain why the other heroes could
not do the same thing. Another avenue was explored by Glaucon, another
early Homer critic. In his view, lifting the cup required some dexterity because
of its two handles, and only Nestor knew the right technique for doing this.®®
So the reason why the other heroes struggled was not so much the weight of
the cup itself but rather its peculiar shape.

64 The fragment is not included in Rose’ or Gigon. Rose (1863) 166 claimed that AploToTéAng is
an error for Apiotapyog. However, the explanation in Porphyry is inconsistent with the opinion
of Aristarchus as discussed in schol. A Hom. I X1.636b Erbse (see note 70).

65 Stesimbrotus, frag. 23 Jacoby = Porphyry, Ad IL. X1.637 (1.168 Schrader = 186 MacPhail): £tn-
olpBpoTog pEV 0LV PNy, fva Sokii eikdTwg MoK €T Pelwkévar i yap mapdpovog 1 ioxig kol
oV VMO YApwS pepdpavTal, kai Ta Tig {wiig ebAoyov eival mapam\iota. (“Stesimbrotus says
[that Nestor is described as such] so that it would seem logical that he lived for many years.
For if his strength remains and has not been withered by old age, it is also reasonable that
what concerns his lifetime is similar.”)

66 Porphyry, Ad Il X1.637 (1168 Schrader = 186 MacPhail): TAavkwv 8¢, OTL KaT& SiGpETPOV
gAdpfave T& OTa, £k péoov 8¢ mav eb@opov (“Glaucon says that he took the handles along
the diameter, and everything is easy to carry from the middle”).
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The philosopher Antisthenes, by contrast, gave a philological solution. He
claimed that deipev does not mean “lift” but “endure”, i.e., unlike the other her-
oes, Nestor was able to endure the cup, i.e. he did not get drunk.®” A clever so-
lution, but it can hardly be reconciled with the word drmoxwroaoke, which shows
that Homer literally means lifting or moving the cup.

Aristotle goes for an alternative philological solution. He focuses on the
word GA\og and argues that it should be combined with yépwv at 1. 637, which
is apo koinou, i.e. the line means “any other old man had difficulty moving it
from the table when it was filled, but Nestor lifted it with ease”. So Homer is sup-
posedly comparing Nestor to other old men. This fragment shows how Aristotle
wrote his Homeric Problems at least in part in order to address Homeric problems
that were commonly discussed in his days. His interpretation regarding Nestor’s
cup was later adopted by the grammarian Sosibius.®® It shows that Aristotle’s in-
terpretation of a specific Homeric passage influenced later generations of schol-
ars. The problem was so heavily debated that the grammarian Asclepiades of

67 Antisthenes, frag. 55 Decleva Caizzi = Val91 Giannantoni = Porphyry, Ad Il X1.637 (1168
Schrader = 186 MacPhail): AvtioBévng 8¢ ol mepl Tiig katd Xeipa PaputnTog Aéyel, GAN OTL
oUK £peBioKeTo onpaiver GAN Epepe padiwg TOV otvov. (“Antisthenes says: He is not speaking
about the weight in his hand, but he means that he was not getting drunk; he was easily bearing
the wine.”)

68 Sosibius, frag. 26 Jacoby = Athenaeus 11, 493c - 494b: ZwaiBlog 8 6 AuTikdg mpoBeig ta €mn;
“GANOG pEV HOYEWV ATOKIVIOOOKE TPOTELNS / TAEToV €6V, NéoTwp & O yépwv dpoynTi Gelpev”,
YPAQPEL KATA AEELV* VDV TO P&V EMITMPEVEV £GTL TQ) TONTH GTL TOVG HEV AOLTOUS E1TE HOYEOVTOG
aeipewv 0 8émag, Tov 8¢ Néotopa povov apoynti. dAoyov &’ €80ket Aopndoug kai Aiavtog, €Tt &
AxIANéwG TapOVTwV glodyeoBal TOV NéoTopa yevwaidtepov, Th Akia mpoBefnkdta. TovTwv Toi-
VUV 0UTWG KATNYOPOVHEVWY Tf| AVAOTPOPT] XPNOGHEVOL GTTOADOEV TOV IO THV. &0 Y&P TOVTOU
10D E&apeTpou “melov €0v, Néotwp & O yépwv duoynti Gelpev” &mo Tob péoov EEeNOVTEG TO
“yépwv” TAEOHEV TOD TPWTOV OTIXOV TPOG TNV ApXTV U0 TO “@AN0G pév”, elta TO ££ YRS Ov-
VEpPODHEV: GANOG HEV YEPWV HOYEWVY ATIOKIVAOKOKE TPamélng mAelov £6v, 6 8¢ Néotwp dmovnri
detpev. Vv oDV obTw TeTaypévwv 6 NEGTwp Qaivetal TV pev Aoy mpeoBut@v pévog To
8énag apoynti delpwv. (“Sosibius, the problem-solver, when citing the lines ‘Anyone else had
difficulty moving it from the table when it was filled, but Nestor lifted it with ease’ [II
X1.636 - 637], writes exactly the following: the poet is criticized nowadays for saying that the oth-
ers had difficulty lifting the goblet, whereas Nestor alone lifted it with ease. And it seemed illog-
ical, when Diomedes, Ajax and also Achilles are there, that Nestor is presented as stronger than
them, although he was an extremely old man. But by making use of the technique of anastro-
phe, I free the poet from these charges. For if we take the word yépwv from the middle of the
hexameter ‘when it was filled. But Nestor lifted it with ease’ and put it at the beginning of
the first line after GAMog pév, we will then construe the beginning as follows: another old
man had difficulty moving it from the table when it was filled, but Nestor lifted it with ease.
So if the words are arranged like this, Nestor is now presented as the only one of the other
old men who can lift the goblet with ease.”)
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Myrlea even devoted a whole monograph to Nestor’s cup (entitled Ilept Tfg
Neotopifog).*® The solution of the Alexandrian grammarians was much more
straightforward: according to the Viermdnnerkommentar, Homer is just exagger-
ating here in order to praise Nestor.”®

Solving Homeric problems in a philological manner obviously anticipates
the work of the Alexandrian grammarians, who edited and commented on the
text of Homer. Even though in many respects Aristotle’s studies of Greek poetry
can be said to have laid the groundwork for the Alexandrian grammarians, there
is one important difference between their method and Aristotle’s. Aristotle him-
self is in fact much more conservative when it comes to the Homeric text as it is
transmitted to him. Unlike the Alexandrian grammarians, he does not use athet-

69 Asclepiades, frag. 4 Pagani.

70 See schol. A Hom. II. X1.636a Erbse: mpog 10 {ntovpevov, g 0 yépwv dpoynti, ot 8& GAAoL
HeT& KakoTaBiag. o Bel 8¢ ovTe SaovVEW THV TIPOPOPaV oUTE EMaipelv THV Tpoowdiav, GAAK
VOELV 8T1L kol ToUTO T@V émaivwv Aeyopévwv NéaTopdg £0TL, kabdmep kai 10 “NéoTtwp 8¢ mpdTog
kTumov Gie pwvnaoev te”. (“In reference to the question why the old man lifted it with ease, while
the others struggled: it is not necessary to give rough breathing [6AAog] or lift the accent [GAN
6¢], but you need to take into account that this is also part of the praise given to Nestor, as is
also found in ‘Nestor was the first to hear the noise and spoke’ [Il. X.532].”) There were also
other, competing linguistic solutions. Some ancient critics suggested correcting the word
dM\og to either AN 8¢ or GANog, both of which would refer to the wounded hero Machaon,
who is Nestor’s guest in this scene. In the Viermdnnerkommentar, the conjectures GAN" 6g and
GAAog are rejected as un-Homeric, however. See also schol. A Hom. I1. X1.636b Erbse: 0 AokoAw-
vitng Yiloi, kal @nowv 8Tt éni Tod NEoTopog Kettar GANOG HEV YOp Gv TIG aUTO HOYLG EKIVNOE,
Néotwp § 6 yépwv apoynTi Gepev. oA mpdTepov 8¢ oVTWG Kai ApioTapyog. Tveg 8¢ BovAovtat
Baocuvelv TO o kol ékTelvety, V' 1 6 GANOG pEV poyEwv, TOuTéoTIV 6 Maydwv. ELG 8¢ éxetvo
Tapa@UAGEQL EXopeV WG GTL AP TQ TONTH 0V SUvaTaL 1} TolwTN KPAsIS eivat: £i yp Kol kpdoty
nBovAovto, mapalopBavely Expiv €ig TO w, Opolwg T@ “oixeT Gvip WploTtog”. eiol 8¢ ol
diéoteav “GAN 6¢”, TO &G Baghvovteg, “GAN OG pev poyéwv”, tva O aTd VIAPXT VonTOv*
i yop Tod Moydovog A BovAovtat THY SlaoToAfv AapBavewy. NEElG 8¢ ouykataTiOEpeda
@ Aplotdpyw PrAodvtl, Emel BovAeTal 6 oM TNG Kai 8t TOUTOL TO EVPWETOV TOD YEPOVTOG
naplotavew. (“[Ptolemy] of Ascalon gives smooth breathing and says that it refers to Nestor: any-
one else lifted it with difficulty, but the old Nestor lifted it with ease. So also much earlier Aris-
tarchus. But some want to give alpha rough breathing and lengthen it, so that it is: the other
person lifted it with difficulty, i.e. Machaon. But we must avoid this, since such a crasis is
not possible in the poet. If they wanted a crasis, they should have accepted changing it to
omega, like in ‘the splendid man went away’ [Il. XI1.288: oiyeT avr|p Wptotog]. Other people sep-
arate GAN 6 with rough breathing in 6g: ‘now he lifted it with difficulty’, so that it has the same
meaning: for they again want to understand the separation in reference to Machaon. But we
agree with Aristarchus, who gives smooth breathing, since the poet wants to show the old
man’s strength through this as well.”) Aristotle’s solution is also mentioned (without his
name) alongside these other solutions in schol. b Hom. II. X1.636¢1 Erbse, which is a compilation
of the Viermdnnerkommentar and Porphyry.
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esis, i.e. he does not delete problematic lines, and he almost never corrects the
Homeric text.

The only example of a conjecture is frag. 171 Rose’, but even that involves
only a minor change, though not a very successful one.

TIPooKeloOw 8¢ kol TO “f TpIv pév Env PpoTtodg adnecon”. el yap 0 AploToTéAnG, Sid Ti
v KoAuvpw kot v Kipknv kai v Tve avdnéooag Aéyet povag mdoat yap kai ai GAAat
PV €iyov. kai Aboat pev o PePovANTaL, HETaYpApeL 8E TOTE eV €ig TO abARedoa, £§
o dnAodabai @nov 8Tt povwsderg foav, m 8¢ Tiig Tvodg obBResoa™ TODTO Yop mAcalg
UTipYev aDTOIG Kol HOvVaLG™ oL Y&p avTaL £ Yig (KOLV.

The next point to be addressed is the line “she had been a mortal woman before, gifted
with a voice” [0d. V.334]. Aristotle asks why only Calypso, Circe and Ino are called “gifted
with a voice” (adnéooag). For all the other deities had voices too. He has not wished to
solve it but changes the word sometimes to avAneooa, because he says that it is clear
that they lived alone; in the case of Ino, he changes it to o08fecoa. For this applied to
them alone, since they all lived on the earth.

Frag. 171.1 Rose’® = frag. 394.1 Gigon = Porphyry, Ad Od. V.334-337 (11.56 - 57 Schrader) =
schol. Hom. Od. V.334e Pontani

0 8¢ AploTOTEANG “obBNEcOAV” AéyeL olovel Emiyelov. oVTWG Kai XapaAEWV.

Aristotle says ov8neooav, meaning terrestrial. So also Chamaeleon [frag. 24 Martano].
Frag. 171.2 Rose’ = frag. 394.2 Gigon = schol. Hom. Od. V.334c1 Pontani

avdneooar AploToTéAng ovdHETTA.

avdneooa: Aristotle reads ovdreooa.

Frag. 171.3 Rose’ = frag. 394.3 Gigon = schol. H Hom. Od. X.136 Dindorf

Aristotle wonders why Calypso (Od. XI1.449), Circe (Od. X.136; XI1.8; XII.150) and
Ino (0d. V.334) are the only deities to be given the epithet av8rieooa “gifted with
a voice”, although all the other nymphs and gods are able to speak as well.
Aristotle chooses to change one letter of the epithet. In the case of Calypso
and Circe, he suggests changing the word to a0Afjleooa, which he interprets as
“living alone” (6Tt povwdelg Roav).”? Alternatively, he considers changing the

71 The manuscripts actually read adreooa, which is obviously corrupt. In view of schol. Hom.
0d. V.334c1 Pontani, this is generally corrected to o08neco0.

72 The manuscripts read povwderg or povwdn, which is a hapax. Schrader (1890) 57 and 184-5
conjectured povwdol, interpreting this as referring to music (tibiarum amans) and explaining
avAneooa as derived from avAGg rather than avAr. Schrader claimed that Calypso (Od. V.61)
and Circe (Od. X.221) like singing on their own in Homer. However, singing and playing the
pipes at the same time is impossible. Schrader therefore claimed that they were accompanied
by pipers, but this contradicts the supposed cantus solitarius.
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word to o0v8nedgoa, which supposedly means “living on the earth” (n&oou yap
avTal émi YAg @kouv), so as if derived from the poetic word ovdag “earth,
ground”.” The conjecture o08neooa was also adopted by Aristotle’s pupil, Cha-
maeleon,” who wrote a treatise on the Iliad” and perhaps also one on the Odys-
sey. Interestingly, Aristotle seems to have considered this intervention to be not a
real solution, since Porphyry states that Aristotle did not wish to solve the prob-
lem. Neither of Aristotle’s conjectures are correct Homeric formations, however.
The suffix -eig, -e00a, -ev (originally *-Fevt-) is a possessive suffix, so a0dnelg
means “in the possession of a voice”. In Attic, the suffix was no longer in use
and survives only in yopielg, yapieooa, yapiev. Aristotle probably thought of it
as a strange ending, which he could apply freely to any word he wanted. The
Alexandrian grammarians, by contrast, had a better understanding of the Ho-
meric language. Aristophanes of Byzantium, for instance, argues that av8neig
means “in the possession of a human voice”, i.e. the epithet indicates that the
goddesses in question are able to change their voices.”®

73 Frags. 171.1 and 171.3 Rose’ are somewhat contradictory. In the former, Aristotle is said to
have used o0U8neooa for Ino and avARecoa for Calypso and Circe. However, the scholiast goes
on to comment that they all live on the earth, which seems to imply that o08recoa was also
used for Calypso and Circe. Frag. 171.3 Rose’ also points in this direction, since that scholion
comments on the epithet of Circe, which Aristotle is said to have changed to o08rieooa. Similarly,
Eustathius, commenting on Od. X.137 (Circe) claims (I.372 Stallbaum): ypd&petal 8¢ kai ovdH-
€000, TOUTEOTWYV €miyelog katd TNV KoAupw kol Tag Aowmdg vopgag (“another reading is
ovdneooa, i.e. terrestrial in the case of Calypso and the other nymphs”). For this reason,
Romer (1884) 305- 6 concluded that Aristotle used o08neaoa for all three goddesses and conjec-
tured changing the text of Porphyry to éni 8¢ Tfig Tvobg aAfecon [corrected from avdAecoa, as
the epithet is read in the manuscripts] <ovy &ppoTTEL 810 0VBNRETTA &V TTAoAIG>* TODTO Y&P G-
oaLg Lrtipxev avTaig kal povaig. (“In the case of Ino, avAReooa <does not fit. Therefore he used
ovdneooa for them all.> For this applied to them alone.”) However, this contradicts the claim
that Aristotle “changes the word sometimes to avAfecoa”. It is possible that the conclusion
“for this applied to them alone, since they all lived on the earth” is actually that of the scholiast,
i.e. Aristotle may have initially used the conjecture o08neooa only for Ino, but later this conjec-
ture also came to be used for the other goddesses.

74 Chamaeleon, frag. 24 Martano.

75 See Chamaeleon, frags. 17-23 Martano.

76 Aristophanes Byzantius € 334, 197 Slater = schol. Hom. Od. V.334c1 Pontani: 6 pév Aptoto-
Pavng Tag avOpwoelSelg Bedg “avdnéccag” @notv oiovel @wviv petelAnguiog. Alternatively,
the epithet can be interpreted as meaning “famous”. See D schol. Hom. Od. V.334b Ernst =
schol. Hom. Od. V.334c2 Pontani: avdreooa fitot 1aBontog 8k T& oupavta, f £mel ol GvBpwmot
PWVNREVTEG TIPOG T& GAAa {@a. <fi> ovdneooa 1 €miyeldg mote. Apollonius Sophista, Lex. sv.
avdrecoa 48 Bekker: avdfiecoa 6 Amiwv dvopaoth kol #v80E0g, olov avdwpévn, émt Kipkng
kol KoAvpobg. Tveg 8¢ avdnéocag avtag Aéyovowv, 6Tt eig Opihiag AABov AvBpwnw T
‘08vooel. Porphyry, Ad Od.V.334-337 (1157 Schrader): primote 8¢ 16 addnedoa oV TO avBpwrtivy
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6 Allegorical Interpretations?

Although Aristotle never explicitly rejects allegories, his method shows that, un-
like the early defenders of Homer (Theagenes, Metrodorus of Lampsacus the
Elder and Democritus) and unlike the Stoics later, he does not allow allegorical
interpretations for the solution of Homeric problems. This is perhaps the only
point on which he agrees with Plato about Homer. This later becomes one of
the key concepts of Aristarchus’ exegesis of Homer, viz. “to explain Homer on
the basis of Homer” ("Opnpov &£ ‘Oufpov ca@nvilew).”” There is one fragment,
however, that seems to involve an allegorial interpretation, viz. frag. 175 Rose’.
It concerns the Cattle of Helios in the Odyssey (Od. XI1.129 —130):7®

APLOTOTEANG PUOKAG TAG KATA GEARVIV TIHEPQAG aUTOV Aéyely not Tv' 0Uoag. TOV Yap Tev-
TAKOVTA APIOUOV ENMTOMAAOIAO0G EIG TOV TPLAKOGTOV TIEVTNKOOTOV TIEPIETTAVAL EVPOELG.

Aristotle gives a scientific explanation when he says that he (sc. Homer) is referring to the
number of days of the lunar calendar, which are 350. For if you multiply the number fifty by
seven, you will find that this results in 350.

Frag. 175.2 Rose’ = frag. 398.1 Gigon = schol. Q Vind. Hom. Od. XI1.129 Dindorf =
Porphyry, Ad Od. X11.128 ff. (I1.111-112 Schrader)

“emta Bo@v dyeAa”* ApLOTOTEANG PUOIKDG PNoL Aéyel Yap TaG tkad't fuépag mevtnkovta
TIPOG TOIG TPLAKOTLAULG.

@wVij povov xpfiobat 8nAot, wg TO abdnevta 8 £0nke, onpaivel 8¢ kot TO £vBo&ov kal Emi@npov.
Kol £kdoTn 8¢ TovTwy EvBotoc, (omep 7 v, dTe £v avBpwriowg N, #vBotog Ny kal mdot mepi-
@npog. Finally, the epithet might also be a meaningless epitheton ornans, as it is also used in
Homer, Od. V1125 (7 V0 1ov GvBpwmwv eijl oxedov addnéviwv).

77 Porphyry, Zetemata Vaticana 11 (1.297 Schrader = 56 Sodano). Although the phrase “Opnpov
&€ ‘Ounpov oagnvilerv might be Porphyry’s own, it does accurately describe Aristarchus’ ap-
proach. See D schol. Hom. II. V.385 van Thiel: Apiotapyog G&tol T ¢paidpeva Hd ToH montod
puBkwTepOV EkSEKETBAL KATG TN TIKNY £50vaiav, undev EEw TV @palopévwy VO Tod ToINTOD
TIEPLEPYATOUEVOUG.

78 Lamberton (1992) xiii-xv also cited frags. 145 Rose® = 369 Gigon = Porphyry, Ad Il. 11.305-329
(I.32-33, 34 Schrader = 44-46 MacPhail), 153 Rose’ = 377 Gigon = Porphyry, Ad Il. 11447
(L.44—45 Schrader = 98100 MacPhail) and 149 Rose’ = 373 Gigon = Porphyry, Ad Od. XI1.374
(I113-114 Schrader) as supposed examples of allegorical interpretations. However, none of
these concern actual allegories. Frag. 145 Rose’ involves the interpretation of an oracle by Cal-
chas, which Aristotle considers to be inadequately explained. Frag. 153 Rose’ merely interprets
the head of Gorgo on Athena’s aegis to be a metaphor (the effect of the aegis is similar to the
petrifying effect of the Gorgo head) rather than being the actual head, which elsewhere in
Homer is said to dwell in Hades. Finally, frag. 175 Rose® merely involves a comparison between
Helios and humans: like the humans need eyes to see, so too does Helios need Lampetia in order
to see all. See Bouchard (2016) 58— 65. See also the discussion in Mayhew (2019) 191-3.



Did Homer Nod Off? Aristotle and Homeric Problem-Solving —— 249

“Seven herds of cows”: Aristotle gives a scientific explanation when he says: for he [sc.
Homer] is referring to the 350 days.

Frag. 175.1 Rose’® = frag. 398.2 Gigon = D schol. Hom. Od. XI1.129 Ernst
‘Totéov 8¢ &L TaG AyéNag TavTag Kal PGAOTA TG TV Bo@V @act TOV AploTotéAnv GAAnyo-
PEWV €ig TAG KATH SWSEKABA TWV CEANVIAKDV UNVDV MUEPQS, YIVOHEVAG TIEVTAKOVTX TIPOG
Todg Tplakooialg, 600G kai 0 GPBPOG TaAlG EMT& GyEAatg, £xovoalg GV TEVTAKOVTA {@a.
810 olte yovov alT@v yiveoBal “Opnpog Aéyel olite @Bopav. TO Yap avTd OOV GEl TAig
TOLOTALG MHEPALS MEVEL
It is necessary to know that Aristotle is said to interpret these herds and especially the
herds of the cows allegorically as referring to the days according to the twelve lunar
months, which are 350. This is the same number for the seven herds, which have fifty ani-

mals each. For this reason, Homer says that they have no birth or death, since the number
always remains the same for such days.

Frag. 175.3 Rose’ = frag. 398.3 Gigon = Eustathius, Ad Od. XI1.130 (I.18 Stallbaum)

Aristotle seems to have argued that the number of oxen in the cattle of Helios is
(approximately) equal to the number of days in the lunar calendar. Eustathius
explicitly calls this an allegorical interpretation (GAAnyopeiv). However, this
label might be inaccurate. In fact, the other two scholia call it a scientific expla-
nation (@uowk®q). The essential difference is that a scientific explanation ad-
dresses the origin of the myth, whereas an allegorical interpretation claims to re-
veal the true, underlying meaning of the poem. This type of scientific
interpretation is also found elsewhere in Aristotle.” What Aristotle seems to
have done is ponder why Homer gives 7 herds of 50 cows each, as opposed to
any other random number.?°

A further reason to not jump to conclusions is that the fragment might be-
long to another work of Aristotle. The appendix of Hesychius’ catalogue lists a
work entitled “Why did Homer make the Cattle of Helios <...>” (ti 8fmote “Oun-

79 See especially the discussion in Mayhew (2019) 188—-90. Another reference to a supposedly
allegorical interpretation of Aristotle in Eustathius is Ad Od. X1L.65 (IL.11 Stallbaum) (AptoTo-
TEANG 8¢ @aoty GAANyopik@g eime, etc.). Eustathius cites an allegorical interpretation of the
doves (méAewt) that bring ambrosia to Zeus in Od. XI1.62-63. However, Eustathius appears to
have taken this information from Ptolemaeus Chennus’ Novel History (Kouwr ioTtopla
Lviii.13 - 15 Chatzis), which is notorious for its fake information and bogus citations. According
to the summary in Photius, Bibliotheca, cod. 190, 147a Bekker, Ptolemaeus reported a conversa-
tion between Aristotle and Alexander the Great about the reason why doves serve to bring food
to the gods. See also Mayhew (2019) 177-87.

80 This interpretation later recurs in Lucian, Astr. 22. A much more straightforward “solution”,
of course, is that 7 and 50 are common symbolic numbers to denote a large group. See Roscher
(1917) 80-90.
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pog émoinoev tag ‘HAiov Bolg <...>).5* First, it seems that this title is incomplete,
since a second accusative is expected with émoinoev. Hintenlang, for instance,
suggested restoring the text as <S> Ti 8rrote “Opnpog €mnoinoev tag "HAlov
Bobg <&pbapToug> “Why did Homer portray the cattle of Helios <as immortal>”.%
Indeed, one of the puzzling details is that, although Helios’ cattle does not give
birth, their number stays the same. This implies that they are immortal, which
raises the question how Odysseus’ men are able to kill and eat them. Although
the scholia have not preserved a Homeric problem along these lines, it is possi-
ble that this was a debated issue and that Aristotle wrote a treatise on this pas-
sage, similar to Asclepiades of Myrlea’s On Nestor’s Cup. Another possibility is
that the fragment belongs to another lost work of Aristotle, viz. On Mythological
Animals (Tlept T@V puboAoyovpévwy {wwv).®

7 Aristotle’s Legacy

Aristotle’s Homeric Problems are at the origin of a long-standing tradition of Ho-
meric questions that flourished in the Hellenistic and Roman periods. Homeric
problems were first of all studied by Aristotle’s own pupils. I have already men-
tioned Chamaeleon, who wrote one or more works on Homer. Other Peripatetics
who discussed Homeric problems were Demetrius of Phalerum, Megaclides and

81 Hesychius’ catalogue no 142 (p. 85 Diiring = p. 16 Rose’ = p. 28 Gigon). This item is some-
times considered to belong together with no 141 (Ilept poxaplotnTog) and therefore restored
as Iepl poxaplotntog <f> Ti drmote “Opnpog énoinoev tag ‘HAlov Bobg, “On Happiness or
Why Homer Made the Cattle of Helios”: see Diiring (1957) 85; Gigon (1987) 28; Dorandi (2006)
101. Moraux (1951) 251, however, followed Menagius’ suggestion to correct Ilept pakoploTnTOg
to Iept pokpoPLoTnTog, i.e. the title might actually refer to Aristotle’s On Longevity and the Short-
ness of Life (Ilepi poxpoLotnTog kai Ppayupotntog). Mayhew (2019) 31-2 suggests that mept
pakaptotnTog might be a corruption of mept pokdpwv viigov, which would be a work on the Is-
land of Blessed.

82 Hintenlang (1961) 132n1. Supplementing 814 is unnecessary, however. Hintenlang also con-
sidered the supplement €i 8fote “Opnpog énoinoev tag ‘HAiov Bodg, “Whether Homer Invented
the Cattle of Helios”, proposed by Heitz (1869) 148, i.e. whether it was an element of the tradi-
tional myth or whether Homer first introduced this. Hintenlang’s first suggestion is much more
plausible, however.

83 The title is attested in Diogenes Laertius V.25 and Hesychius’ catalogue no 95 (p. 87 Diiring =
p. 14 Rose’ = p. 27 Gigon). Mayhew (2019) 32-3 suggests, however, that Ti 8Anote “Ounpog €noi-
noev 4G ‘HAiov Boig and Iept T@V pubohoyovpevwv {wwv may be subtitles of Aristotle’s Ho-
meric Problems.
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Praxiphanes.® Aristotle and the Peripatetics also inspired Hellenistic grammar-
ians, who wrote their own works on Homeric problems. I have already mentioned
Sosibius of Sparta when I discussed the problem of Nestor’s cup; other grammar-
ians who wrote on Homeric problems are Apollodorus of Athens, Satyrus “Zeta”
(a pupil of Aristarchus) and Zenodotus of Alexandria.®® In the Roman period, the
tradition was continued with Soteridas,® Cassius Longinus,® and most impor-
tantly Porphyry, whose Homeric Questions preserve the bulk of the fragments
of Aristotle’s work and probably contain numerous solutions which were tacitly
adopted from Aristotle.%®

Apart from inspiring these writers of Homeric problems, Aristotle also influ-
enced the great Alexandrian grammarians.®® Aristotle’s method can be seen to
have influenced Aristarchus. Like Aristotle, Aristarchus paid attention not only
to linguistic matters but also to questions about the archaic lifestyle of the Ho-
meric heroes and the relation of the Homeric epics with the traditional myths.*®
To a certain extent, Aristarchus can thus be said to have perfected Aristotle’s
method, especially with regard to linguistic problems.

Admittedly, Aristotle’s solutions to Homeric problems are far from perfect.
His understanding of Homer’s language lacks the refinement of the Alexandrian
grammarians, and his love for Homer often leads him to wild speculations and
contrived solutions. However, his main contribution to Homeric philology lies
not so much in his actual solutions but rather in the methodology that underlies
them. He developed this method in reply to critics who wrote before him. Con-
trary to the early detractors of Homer, Aristotle stressed the importance of judg-
ing Homer by poetic standards instead of by external criteria. He did not indulge
in far-fetched allegorical interpretations in order to justify Homer either but in-
stead tried to put the Homeric epics in what he believed was their historical con-

84 See Demetrius of Phalerum, frags. 143 and 145 SOD; Megaclides, frags. 5—6 and 11 Janko;
Praxiphanes, frag. 25 Matelli. For Dicaearchus, see my discussion in Verhasselt (2018) 407-12.
85 Apollodorus wrote Grammatical Questions on the Fourteenth Book of the Iliad, as the sub-
scription in P.Mil.Vogl. I 19 shows. For Satyrus Zeta, see Satyrus, test. *7 and frag. *32 Schorn
(he was called “Zeta” because of his love for {ntrpata). Zenodotus of Alexandria wrote Solutions
to Homeric Problems according to Suda { 75, s.v. Znvo8otog.

86 Soteridas wrote Homeric Questions according to Suda o 875, s.v. Zwtnpidag. A fragment of his
Homeric Questions might be found in schol. A Hom. Il. IV.412b Erbse (which cites Zwthpag).
87 Cassius Longinus wrote Homeric Problems and Solutions according to Suda A 645, s.v. Aoy-
yivog. He was Porphyry’s teacher in Athens.

88 Porphyry later wrote a work On the Cave of the Nymphs, in which he interprets Homer alle-
gorically.

89 See also Richardson (1993).

90 See Lehrs (1882); Nickau (1977) 136-9; Liihrs (1992) 13-7.
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text and paid attention to potentially ambiguous passages which could be inter-
preted in more than one way. But most of all, he appreciated Homer as an artist.

Appendix: A List of Fragments According to Their
Solutions

In this appendix, I give a list of fragments arranged according to the method of
solution, with the Homeric question and Aristotle’s solution(s). The fragments in
bold are discussed in the main text of this article.
1. Solutions based on the method of representation

11 Solutions ol Vv

1)

2)

3)

4)

Frag. 158 Rose’ = frag. 382 Gigon = Porphyry, Ad Il. 1X.17 (1132

Schrader)

— Problem: why does Agamemnon address only the leaders in II.
[X.17, although the entire army is assembled?

— Solution: old custom, according to which the common people
are only allowed to listen, while only the leaders are allowed
to act.

Frag. 160 Rose’ = frag. 383 Gigon = Porphyry, Ad II. X.153 (1145

Schrader = 284-285 MacPhail)

— Problem: why are the spears of Diomedes and his companions
stuck with their spikes in the ground in Il X.152—-153?

— Solution: old custom, still observed by the Illyrians (cf. Aristo-
tle, Po. 25, 1461a).

Frag. 164.1 Rose’ = frag. 388.3 Gigon = Porphyry, Ad Il. XXII1.269

(I.261-262 Schrader = 256 MacPhail) + Frag. 164.3 Rose® = frag.

388.2 Gigon = schol. T Hom. II. XXIII.269b Erbse + Frag. 388.1

Gigon (not in Rose®) = schol. b Hom. Il. XXIII.269a Erbse

—  Problem: why are the four talents of gold only the prize for the
fourth in the race at the games for Patroclus (II. XXIII.262—
270), although this prize is by far the most valuable?

— Solution: the exact weight of a talent was not yet fixed in
Homer’s time.

Frag. 166 Rose?® = frag. 389 Gigon = Porphyry, Ad II. XXIV.15 (1.267

Schrader = 258 -260 MacPhail)

— Problem: Achilles commits injustice by dragging Hector’s
corpse around Patroclus grave in Il. XXIV.15-16.

— Solution: old custom, still observed in Thessaly.
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5) Frag. 169 Rose’ = frag. 392 Gigon = schol. Hom. Od. IV.356al
Pontani
—  Problem: why does sailing from Pharos to Egypt take a whole

day in Od. 1V.354-357?
— Solution: the head of the Nile used to be located at Naucratis.

6) Frag. 175.1 Rose® = frag. 398.2 Gigon = D schol. Hom. Od. XII.129
Ernst + Frag. 175.2 Rose® = frag. 398.1 Gigon = schol. Q Vind.
Hom. Od. XI1.129 Dindorf = Porphyry, Ad Od. X11.128ff. (IL.111-112
Schrader) + Frag. 175.3 Rose® = frag. 398.3 Gigon = Eustathius, Ad
Od. XI1.130 (II.18 Stallbaum)

— Problem: why does the cattle of Helios consist of 7 herds, which
contain 50 oxen each (Od. XI1.129 -130)?

— Solution: there are 350 oxen in total, since this was the number
of days in the lunar calendar.

Solutions ota eivat 8¢t (no fragments)

Solutions oid Qaotv 7| Sokel

1) Frag. 163 Rose’® = frag. 387 Gigon = schol. A Hom. II. XIX.108b
Erbse = Porphyry, Ad Il XIX.108 (1.235-236 Schrader = 232-234
MacPhail)

— Problem: why does Hera demand an oath from Zeus in II
XIX.91-124, whereas elsewhere in the Iliad it suffices for
Zeus to nod when he makes a promise?

— Solution 1: the oath was part of the traditional myth.

2) Frag. 172 Rose® = frag. 385 Gigon = schol. HQ Hom. Od. 1X.106 Din-
dorf = schol. T Hom. Od. IX.311 Dindorf = Porphyry, Ad Od. 1X.106 ff.
(I1.84 Schrader)

— Problem: how can Polyphemus be a Cyclops if neither his fa-
ther nor his mother are Cyclopses?

— Solution: these elements are part of the traditional myth; in the
same way, horses are born from Boreas, and Pegasus is born
from Poseidon and Medusa.

2. Solutions based on the context in Homer

1)

2)

Frag. 142 Rose’ = frag. 366 Gigon = Porphyry, Ad II. 11.73 (1.24 Schrader =

40 MacPhail)

— Problem: why does Agamemnon test the Achaean army in II. I1.55 -
141?

— Solution: this is a way for Homer to introduce more suspense.

Frag. 143 Rose’ = frag. 368 Gigon = Porphyry, Ad Il. 11183 (1.27-28

Schrader = 40 MacPhail)
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3)

4)

5)

6)

7)

— Problem: it is inappropriate of Odysseus to throw off his mantle
and run around in only his tunic in I1. 11.183.

— Solution: Odysseus does this so that he may catch the attention of
the people and his voice may reach further.

Frag. 144 Rose’ = frag. 42 Gigon = Athenaeus 13, 556d [perhaps from an-

other work]

— Problem: why is Menelaus the only Achaean hero to not have con-
cubines?

— Solution: Menelaus does this out of respect for Helen.

Frag. 146 Rose® = frag. 370 Gigon = Porphyry, Ad Il 11.649 (1.48-49

Schrader = 68 MacPhail)

— Why is Crete said to have a hundred cities in II I1.649 but ninety
cities in Od. XIX.173?

— Solution: these lines are spoken by two different persons (viz.
Homer in the Iliad and Odysseus in the Odyssey).

Frag. 147 Rose® = frag. 371 Gigon = Porphyry, Ad II. 111236 (1.58

Schrader)

— Problem: Why is Helen unaware of her brothers’ fate in II. I11.236,
even though the Trojan War has already been going on for nine
years?

— Solution 1: Paris made sure to keep Greek prisoners away from
Helen.

— Solution 2: Helen comes across as not meddlesome.

Frag. 148 Rose® = frag. 372 Gigon = Porphyry, Ad Il 111.276 (1.59-60

Schrader = 76 MacPhail)

— Problem: why does Homer assume that the Trojans swear falsely
when making a truce with the Achaeans? The Trojans never did
this, since the agreement was that Menelaus had to kill Paris;
since Paris was rescued by Aphrodite, he was not killed, and the
Trojans were therefore not required to give back Helen.

— Solution: in their oath, the Trojans cursed themselves if they violat-
ed the truce; Pandarus’ attack on Menelaus was a violation of this
truce.

Frag. 149 Rose’ = frag. 373 Gigon = Porphyry, Ad Od. XI1.374 (I1.113

Schrader)

— Problem: how can Homer claim that “Helios sees all” in Il 111.277
but, in Od. XI1.374—375, let Lampetia report to Helios that his cattle
have been slaughtered?

— Solution 3: the lines are spoken by two different people (viz. Aga-
memnon in the Iliad and Homer himself in the Odyssey). It is also



8)

9)

10)

1)

12)
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fitting that Agamemnon would say in his oath that Helios sees all,
since this is intended to be a threat towards both the Greeks and
the Trojans to not break the oath.

Frag. 150 Rose® = frag. 374 Gigon = Porphyry, Ad Il 111441 (1.65-66
Schrader)

Problem: Paris is a despicable character since he is not only saved
after being defeated by Menelaus but also immediately wants to
have sex with Helen after returning from the battle (Il. 1V.428 -
448).

Solution: Paris’ sexual desire was already present before; this de-
sire naturally increases if it is not satiated or if the person in ques-
tion thinks that he will not be able to satiate it anymore in the fu-
ture.

Frag. 151 Rose’ = frag. 375 Gigon = Porphyry, Ad I1. IV.88 (1.70 Schrader)

Problem: why does Athena tempt Pandarus (part of the auxiliary
troops) to break the truce rather than a Trojan (Il. IV.85-103)?
Solution: the Trojans hated Paris and therefore would not risk the
action just to get in his favour; Pandarus is a logical choice since
he was a greedy man.

Frag. 155 Rose’® = frag. 379 Gigon = Porphyry, Ad I1.V1.234 (1.96 Schrader
= 114 MacPhail)

Problem: why does Homer criticize Glaucus for exchanging his
golden armour for Diomedes’ iron armour in Il. VI.232-236?
Solution: Homer is not criticizing Glaucus for giving away his much
more valuable armour; Glaucus is criticized for doing this in the
middle of battle.

Frag. 156 Rose’® = frag. 380 Gigon = Porphyry, Ad II. VIL.93 (1.107-108
Schrader)

Problem: why does Menelaus initially rebuke the Achaean heroes
for not accepting Hector’s challenge (1. VIL.92-103) but, after Nes-
tor’s speech, no longer volunteers (Il. VI1.161-168)?

Solution 1: Agamemnon had told him that he was no match for
Hector.

Solution 2: Menelaus’ initial reaction was emotional.

Solution 3: Menelaus was in no shape to fight Hector, since he had
recently been wounded by Pandarus.

Solution 4: the stakes were not the same for both parties in a duel
between Menelaus and Hector.

Frag. 157 Rose’ = frag. 381 Gigon = Porphyry, Ad II. VI1.229 -230 (1.109
Schrader = 126 MacPhail)
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13)

14)

15)

16)

17)

— Problem: why does Ajax reveal Achilles’ wrath to Hector in Il
VIL.226 - 2307

— Solution: Ajax mentions Achilles’ wrath to show to Hector that
Achilles is not cowering away and that there are other Achaean
heroes who are stronger than Achilles.

Frag. 159 Rose’ = frag. 384 Gigon = Porphyry, Ad Il. X.194-197 (1.145-

146 Schrader = 168 MacPhail)

— Problem: why do the Achaean leaders meet outside the wall in Il.
X.194-202, although this is less safe?

— Solution 1: it was unlikely that the Trojans would risk a sneak at-
tack, since they already had the upperhand.

— Solution 2: it is customary to discuss important matters in a quiet
place.

— Solution 3: it would be illogical to not get closer to the Trojans,
since they sent out scouts.

— Solution 4: meeting inside camp would create panic because of the
noise.

Frag. 162 Rose’ = frag. 402 Gigon = Strabo XIII.i.36, 598 C + Eustathius,

Ad I1. VIL445 - 463 (11.494 van der Valk)

Problem: why does Homer report that the Achaeans built a wall to
protect their camp in Il. VIL.434 - 441, although in the present-day
site no remnants of such a wall are found?

— Solution: Homer invented the existence of the wall for dramatic
purpose and therefore adds a prophecy that it will later be de-
stroyed by Poseidon and Apollo.

Frag. 163 Rose’® = frag. 387 Gigon = Porphyry, Ad Il. XIX.108 (1.235-236

Schrader = 232-234 MacPhail)

—  Problem: why does Hera demand an oath from Zeus, whereas else-
where in the Iliad it suffices for Zeus to nod when he makes a
promise (II. XIX.108 —111)?

— Solution 2: it is logical to want the other person to swear an oath if
important matters are at stake.

Frag. 165 Rose’ = frag. 403 Gigon = Plutarch, De audiendis poetis 12, 32f

— Problem: Agamemnon’s behaviour is immoral, since he accepts a
horse as bribe to release Echepolus from duty in Il. XXII1.296 —298.

— Solution: it is good to prefer a good horse to a bad man (cf. Porphy-
1y, Ad Il. XXII1.296 ff. [1.263 Schrader]).

Frag. 168 Rose’ = frag. 391.1 Gigon = schol. T Hom. II. XXIV.569b1 Erbse

= Porphyry, Ad Il. XXIV.559ff. (1.277 Schrader) + frag. 391.2 Gigon (not in

Rose’) = schol. b Hom. Il. XXIV.569b2 Erbse



18)

19)

20)

21)

22)
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— Problem: Achilles’ character is anomalous since out of nowhere he
suddenly becomes angry with Priam in II. XXIV.569.

—  Solution: unknown; probably: Homer portrays Achilles as someone
with a lot of mood swings (cf. Aristotle, Po. 15, 1454b).

Frag. 173.1 Rose’® = frag. 396.2 Gigon = schol. HT Hom. Od. IX.345 Din-

dorf = Porphyry, Ad Od. VIIL564ff. (IL.79-80 Schrader) + Frag. 173.2

Rose’ = frag. 396.1 Gigon = schol. MQ Hom. Od. 1X.333 Dindorf

— Problem: why does Odysseus tell the Phaeacians that he blinded
Polyphemus (0d. 1X.375-398), although the Phaeacians were
also descendants of Poseidon?

— Solution: Odysseus knew that the Phaeacians were enemies of the
Cyclopses, who had driven them away to Scheria.

Frag. 176 Rose’ = frag. 399 Gigon = schol. N Hom. Od. XII1.789 Dindorf =

Porphyry, Ad Od. XV1.188 (11.121 Schrader)

—  Problem: why does Odysseus reveal his identity to Telemachus (Od.
XVI.188 -189), the servant Euryclea (Od. XIX.474—475) and the two
herdsmen (Od. XX1.207-220), but not to Penelope?

— Solution 1: Odysseus needed the help of Telemachus and the se-
lected servants in order to fight the Suitors.

— Solution 2: if Penelope stopped crying, this would be suspicious
and thus might jeopardize the plan.

Frag. 177 Rose’ = frag. 400 Gigon = Porphyry, Ad Od. XVIL.291ff. (I1.124

Schrader)

— Problem: uncertain; perhaps: why does Odysseus’ dog die so sud-
denly in Od. XVIL.326 -327?

— Solution: the old dog died overcome with joy upon recognizing his
old master.

Frag. 178 Rose’ = frag. 401 Gigon = Porphyry, Ad Od. VI1.258 (I1.68 - 69

Schrader)

—  Problem: why does Odysseus not accept the gift of immortality, of-
fered to him by Calypso (Od. VII.255-258)?

— Solution 1: Odysseus wants to come across as more honorable to
the Phaeacians, to whom he is telling his story, so that they
speed up his return home.

Solution 2: Odysseus did not trust Calypso.

Eustathius, Ad Od. XIX.472 (I1.213 Stallbaum) = Porphyry, Ad Od.

XVIL476 ff. (11.126 — 127 Schrader) (not in Rose’ or Gigon)

— Problem: Odysseus proves his identity to the herdsmen Eumaeus
and Philoetius on the basis of a scar on his foot; however, by
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this logic, any man with a scar can be identified as Odysseus (Od.
XIX.467-475).

Solution: unknown; perhaps: Euryclea does not merely recognize
him by his scar but also by his stature and voice.

23) P.Oxy. II 221 col. xiv 27- 32 = schol. Hom. Il. XXI, pap. 12, 286 Erbse (not
in Rose® or Gigon)

1)

2)

3)

Problem: why are Athena and Poseidon not helping Achilles in his
fight against the Scamander but are only encouraging him (IL
XX1.284-297)?

Solution: Hephaestus was already the opponent of the Scamander
(cf. schol. bT Hom. Il. XX1.288 - 291 Erbse = Porphyry, Ad Il XX1.288
[1.250 Schrader]).

Solutions based on the language

Frag. 145 Rose’ = frag. 369 Gigon = Porphyry, Ad II. 11.305-329 (1.32-33,
34 Schrader = 44— 46 MacPhail)

Problem: why does Calchas, in his interpretation of the portent in
Il. 11.308 - 332 (a snake appeared at the altar, devoured a nest of 8
little birds along with their mother and then turned to stone), not
discuss the petrification of the snake, and what does it mean?
Solution: the petrification denotes the length and hard nature of
the war.

Frag. 149 Rose® = frag. 373 Gigon = Porphyry, Ad Od. XI1.374 (11.113
Schrader)

Problem: how can Homer claim that “Helios sees all” in Il. II1.277,
but, in Od. XI1.374-375, let Lampetia report to Helios that his cattle
have been slaughtered?

Solution 1: Helios sees all but not at the same time.

Solution 2: Lampetia is to Helios what the eyes are to humans.

Frag. 152 Rose® = frag. 376 Gigon = Porphyry, Ad Il. 1V.297-299 (1.73
Schrader = 84 MacPhail)

Problem: why does Nestor advise to put the cavalry before the in-
fantry and the cowards between these two (Il. IV.297-300: inmtijog
pEV TP@TA oLV immoloy kai Bxeowt, [/ mefovg & £E6mBe otijoev
ToAéag T Kol £00A0UG / €pKog Epev TOAEPOLO® KAKOUG 8’ £G pETOOV
£\aooev, [ 6ppa Kal oUK £0EAwV TG Gvaykain ToAepilor)?
Solution: Nestor actually advises to put the cavalry on the flanks
(mp@Ta = £mi T0i¢ képaowv); in both the cavalry and the infantry,
cowards stand next to courageous men (£¢ pEooov = EVAANGE
HETOED).
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6)
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Frag. 153 Rose® = frag. 377 Gigon = Porphyry, Ad Il. 11447 (L44—45

Schrader = 98 -100 MacPhail)

Problem: why is the head of Gorgo part of the aegis in 1. V.741 but at
the same time is said to dwell in Hades in Od. X1.634—6357

— Solution: the aegis does not literally contain the head of Gorgo; in-
stead, its stunning effect is compared to the petrifying effect of the
Gorgo head.

Frag. 154 Rose’ = frag. 378 Gigon = schol. bT Hom. Il V.778 Erbse

— Problem: uncertain; perhaps: why does Homer compare Hera and
Athena to fearful doves, although they are going to battle (Il
V.778: ol 8¢ Batnv Tpnpwat mehetdow Bpad’ opoiat, “they both
went on, resembling fearful doves in their {Bpota”)?

- Solution: Bpata means “trace”, i.e. the goddesses are compared to
doves, since their traces are invisible.

Frag. 161 Rose’ = frag. 385 Gigon = Porphyry, Ad II. X.252-253 (1.149 -

150 Schrader = 174 MacPhail)

— Problem: how can Homer claim in Il. X.252—-253 that “more than
two thirds of the night had passed” (mapwynke 8¢ mMAéw VUE /
T@v 8V0 polpdwv), while at the same time stating that one third
is left (tpitétn & &€t poipa AéAewtan)? If more than 2/3 of the
night has passed, less than 1/3 of the night is left.

- Solution: moapwynke 8¢ mAéw VOE / T@V SVo polpdwv means that
“more than half of the night had passed”. The night consists of
two parts, each containing six hours. Of the 12 hours in total,
more than half (8 hours) have passed. What remains is 4 hours,
or 1/3 of the night.

Frag. 170.1 Rose’ = frag. 393.1 Gigon = schol. Hom. Od. V.93e1 Pontani

(Porphyry, Ad Od. V.93 [I1.50 Schrader]) and frag. 170.2 Rose® = frag.

393.2 Gigon = schol. Hom. Od. V.93c2+e2 Pontani

- Problem: why does Calypso mix nectar for Hermes (képaooe 8¢ vék-
Tap £puBpdv), although the gods do not drink water (Od. V.93)?

- Solution: képacoe means “pour”.

Frag. 174 Rose’ = frag. 397 Gigon = schol. HQT Hom. Od. IX.525 Dindorf

= Porphyry, Ad Od. 1X.525 (I1.94—-95 Schrader)

—  Problem: why does Odysseus provoke Poseidon by saying to the Cy-
clops that not even Poseidon will heal the now blind Cyclops (Od.
IX.525: WG ovK O@OaANOV Y ifoeTat ovd évooixBwv).

— Solution: Homer means that not even Poseidon will be willing to
heal Polyphemus (o0 PovAn®roetatr) rather than will be able to
heal (o0 Suvroetau), since Polyphemus is evil.
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9) schol. Ge Hom. II. XXI1.390a Erbse (not in Rose’ or Gigon)

— Problem: it is inconsistent for Zeus to condemn Ares’ love for strife
and war in Il. V.890 - 891 but, at the same time, enjoy seeing the
gods fight among each other in Il. XXI1.388-390.

— Solution: Zeus rebukes Ares for always wanting war; similarly,
there is a difference between someone who likes wine and an alco-
holic (cf. Porphyry, Ad Il. XX1.388ff. [1.254-255 Schrader = 288
MacPhail]).**

10) Porphyry, Ad Il. X1.637 (1.168 Schrader = 188 MacPhail) (not in Rose’
or Gigon)

— Problem: how can the old Nestor lift his drinking cup, while the
others are unable to do this (II. XI1.635-636: GANOG peV poyEwv Gro-
KIWVAoooke Tparélng / mAglov €6v, Néotwp 8 O yépwv Gupoynti
depev)?

- Solution: Homer is comparing Nestor to other old men (A\og =
GA\og Yépwv).

11) Eustathius, Ad Il. X1.385 (II1.218 van der Valk) (not in Rose’® or Gigon)®?

- Problem: uncertain; perhaps: why is Paris addressed as képg dyAaé
“famous for your horn” in I XI.385?

- Solution: képag means “penis” (aiSoiw oepvuvopevov); the impli-
cation is probably that Paris excels in the bedroom rather than
on the battlefield.

4. No solution
1) Frag. 171.1 Rose’® = frag. 394.1 Gigon = Porphyry, Ad Od. V.334-337
(I1.56-57 Schrader) = schol. Hom. Od. V.334e Pontani + frag. 171.2
Rose’ = frag. 394.2 Gigon = schol. Hom. Od. V.334c1 Pontani + frag.
171.3 Rose® = frag. 394.3 Gigon = schol. H Hom. Od. X.136 Dindorf
- Problem: why is the epithet abdfeooa used only for Calypso (Od.
XI1.449), Circe (Od. X.136; X1.8; XI1.150) and Ino (Od. V.334), although
other deities have voices too?
- Solution: a0dreooa should be changed to avAfReooa “living alone”
or ovdrecoa “living on the earth”.
2) Perhaps also Et. Gen. o 1507 Lasserre/Livadaras, s.v. ’A)(spu)‘i'g (not in
Rose® or Gigon)

91 See Mayhew (2016) and (2019) 154—67.

92 See Mayhew (2019) 143-8. Schol. T Hom. Il XI.385f Erbse and schol. Ge Hom. II. XI.385
Nicole cite Aristotle for the explanation that képag means bow (T® T0&w oepvuvipeve). However,
AploToTéAng is probably an error for Apiotapyog, who is known to have defended the bow in-
terpretation (cf. Apollonius, Lex. s.v. kép” &yAa€ 98 Bekker).
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—  Problem: perhaps: what type of tree is the &yepwic (II. XIII.389 and
XV1.482)?
- Solution: perhaps: dxepwig should be changed to dyeAwig and refers
to the black poplar.®?
3) Perhaps also frag. 198 Gigon = Athenaeus 7, 298cd.*
- Problem: why does Homer distinguish eels from fish (Il. XX1.203 and
353), when eels are a type of fish?
— Solution: eels are biologically different from other fish.
4) Frag. 130 Rose’ = frag. 386 Gigon = schol. T Hom. II. XVI1.283 Erbse
— Problem: unknown.
—  Solution: unknown.
5) Frag. 167 Rose’ = frag. 390 Gigon = schol. T Hom. II. XXIV.420b Erbse
— Problem: how can the wounds of Hector’s corpse close (IL
XXIV.420 - 421), since wounds inflicted on a corpse after death do
not close but rot.
—  Solution: unknown.

93 See Mayhew (2019) 35-40.

94 See the discussion in Mayhew (2020). Athenaeus 7, 298hc, first cites Aristotle’s discussion of
eels from one of his lost works (frag. 311 Rose’ = frag. 198 Gigon, probably from the Zoica). Athe-
naeus then goes on to cite information offered by Aristotle in another work (&v GAAotg). Rose
(1863) 305 considered the second citation to be derived from the History of Animals (VI 16,
570a), which indeed provides the same biological information. However, in that second work
mentioned by Athenaeus, Aristotle is said to have cited Homer (810 kai “Opnpov Tfig T@v ix60wv
@VOEWS YwpilovTa TS eimelv, sc. AploToTtéAng ioTopel). Since the History of Animals contains
no such mention of Homer, it is possible that the second work was the Homeric Problems.






